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261PLUuh UL

NMunmdtwlwb dAkntwplp juqujws £ wdbh pwt hhunt
nwupju pupugpnid «Yhpwrwlut dupbdwnhljuy dwutiugh-
nnipjudp unynpnn pwluwjuwyphwwnh nuwbnnubph hwdwp
Ukl Jhuwdjul] juppugynn «Uwpbdwnhijujut npudwpw-
unipinity wpwpluyh puuwjununipmnitubph hhpdwb Jpu: Ujh
wupnibwlnud E gpuljutmipiut guiulnud tpgws hwynuh qu-
uwqpplph nuuwlwbt dwupbdwunhjuljut nmpudwputnipiuip
Ybpwpbpnn  hhdtwunpnypubph ubnd pwpunputipp,  hiyytu
twl «Nwupqupwinidubp» pudhuttpp, npnup wnwewghk] ku
npybku wwunwupwtutbp ntuwbunnutph Ynndhg npdus m
wnwohtt hwjwugphg qupUwbwih pywugnn hwpgkiph hhdwh
Ypu: Muntdbwlwb dbntwplp tbpupnid E twlb jpughpttph no
Juipdnipniiibph ptdwwnhl jpdpwpwtwlubkp, npntp Jupnn
Et Jhpwnyby gnpstwjut wwpwwuniupubph, hyybu twb dh-
owtiljju] nt wdthnihhs puinipjniuiiph pupwgpnid ntuwtinnuk-
nht mpynn wnwewnpuputph hwdwp:

QbLntwplp gnpéwdnnubpp whwp k dwinp hukt poiyjub
dniuljghwibph nt puqunipniutiph mkunipmnitubph, htyybu
twl wgnphpdutph nkunipjut hhdtwnpnyputpht:

zunl Bd hwdwpnd ok, np npny onnwpuignt «wpuhnu»,
«pyuiinnp» hwtipwhwyn nbkpdhuttph thnpowpkt dkptwpynid
Jhpwnynid kb qunudbnhl] dwpbdwnhlnu Usnwnn Uwpnipju-
uh Ynquhg Ubpdmsdws hugbpbl wwppbpuljubpp «<hkiw-
unijp», «sujui hs»:

Twuwpununipjniuiiph qpuenidubpp, jpugnudubpp jw-
nwpyb] Eu nuppkp muphubpht Gphwth ywhnwjut hwdwg-
uwpwinid unynpnn niuwbnnubph Ynnuhg, hush hwdwnp hwyn-
unud Bd junpht pgunphwljunipinii:



Zuwnntl] sunphwlwnipnit U hwjnunid twb $hghlu-
dwpbdunhjuljut ghnnippniuutph gnljunp, ypndtunp 8ni-
nh Unjuhuywiht, gngtuntutp Lhihpe Ywonnyuuht, Utbw Zn-
Jujhdjmuht, hywbtu twl Zphthuhdt Undubuywthtt ogunujup
nhunnnnipniutbph nt junphnippubph hwdwn:

Ulnuhpin Inipuppub



1vEruonNnke3Nhu

Spudwpwtinipinitp, wdktwnwpusyws vwhdwidwt hw-
dwduwyl, ghonn nunnnnipiniubp junwpbint dkpnyg E, hdwnnt-
pinil: Bph wyn nuwnnnnipniuttph sppwbwynid Yhpwunynid
duptdwnhluljut npnpwlh hwdwlwpg, wmyw Jupkh kE jun-
ul] dwpbdwnhjuljut npudwpwinipjut dwuht: Gph dkup
utnugubup dwpbtdwnhjuljut wpudwputnipyut nnpunp,
wuyw Jupkh £ wub, np wyny wowplugh hhdbwlwbh tyw-
nwlt £ nw dwupbdunhjuljut wywugnyg» qunuthwph
Soqnhwn  vwhdwinudp: 8nipwpwbsimip  wpbph, wbpwuhp
uwhdwinudtt wbqud sh Jupnn wnw) doqphinn yuwnlkpugnid
niuntdtwuhpynn wnwpluyh yepuptkpu): Uwpbdunhljuljut
npudwputimpjut ywuht (hupdtp wqunljipugnid unwbw-
1nt hwdwp whwp E uljul] npu ntunmdtwuhpnipiniip:

Zuyunth L, np mpudwpwinipniup pujws E popnp wyp gh-
nmpniuubph hhudpnd, uvwluwyt nhin Uphunnwnbh! §nnuhg
Awlbpydws npudwpwbwjut hhdtwut jutnuubph hup-
twwljuhuynmpniup skp mpudwnpnud pputg wpwyt) junp-
puyhtt niuntdbwuppdwip punhniy dhtyh XIX nupuydbpop,
tpp ghninipjutt muppbp phuquyunubpnd ujutghtt hwyntw-
pEpyt, wjuwbu Ynswsd, wwpungnpuiubp (hwjwuwluind-
pintuttp, muphdwunnipniiubp), wytyhuh yunnudubp npntg
L” «€how», " «upawp» 1hubp hwighguind Eu hwljuunipjui:
Tputghg wnwyl] hkwnwppphp hpnmmipimitubphtt upbh &
Swinpwbw) gpujuinipjut gmulh nuuwgpptph twhwpw-
utpnid: Ujugtghtt Uowldby wyn wupwnnpuubph skqnpugdwl,
nusdwtt nnhubp, husp hwiugkgptg mpudwpubtwjut juunt-

' Uphuinnnk] - hmbwlut quuwlwi ihjhuntugm ppub jungnpugnyi abp-
Jujwugnighsutnhg Uklp, Ujkpuwtinp Uwljknniiuugnt niunighsp:
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utph mipwhwnlnipmniiubph wewyt) unpp nuuntdbwuhpdw-
p, hist b tywuinkg wpudwpuimput phun dupbdunh-
Julwi wowplugh Jbkpunpdwip, pun nph dbwynpkg
«Uupbdunhjuljut npudwpwinipniy wnwplub, npt hp
htppht ujutg Yhpwndbk] duptdwnhluljut muppbp wpwp-
Juuknh ppnyputph wowybl] punwugdwi, nputg utnp hwnlyne-
pmoiulbph hwpnbwpbpdwh tyuinwlny: Uuughun]  «dwuph-
dunhljuljut wnpudwpwbnipniy punwjuyuwlgnipmniund
gnpdwdyws wswljubh nith Eplynt hdwuwn. twpn npudwpw-
tmpmitp dbwltpwyl] E npybu quun  dwpbdwnplului
wnwplu, wyw nppuind dbwlbpyduws npudwpwubulub
huhunn jwuntubpp Yhpwrndbght vdwpbdwmplulwi nwuppbp
wnwputbtph hwnynipniuttph wowyt) dognhwn swpunpu-
pnid:

«Uuwptdwnhjujut  wpudwpwinipmity  wnwplugh
hdwgnipmniip wpwyl] wthpwdbion nupdubnt hwdwp ph-
nwplklp kpynt juighp dkyp Yigunuhb, dnup dupbdw-
nhjuljui:

Puyutwugh hwipwhwjn Jhywuwt Uhgk] nt Ukpdut-
wbut hp hnswljwynp «bwpudhn wuybn Int Yhunn Lw-
dwiiskghtyr wpjwéwht Jhynmd tjupwugpnid £ uh npdug, Gpp
nu Yhjununp hp hwjwunwphd hwdhwpq Uwbsn Nwbtuwgh
htwn hwynuymd E dwpnulbp nt hpkug januph wnkp wjuqul-
utph dnw, npnlp dhty qnhtphtt vywubp npnpnd Eu vh thopp
qlupwimg: Yhubng wuwnwbnibphtt wund kb, np hpkup
wpnkl npnoky ki hpklg Unin pligminjws duhwwundh kplyn
Enutwljukphg np Ukyp whwp E fhpwunkl, hul] wuwwnwinubpp
wbwp k jpwhkt jhpwnynn tnutwlyp.

e Lpk £hpwnn Ypwhkl, wmyw YYuiukl,

e Lpk ujuwy Ypwhkl, wyw Juypku hwpnylh pus:



Uju wquwwnwupiwtibphg diyp thpynd £ yunwtnubpht:
N"ph bp wunwuhuwtp, b hisnt wyi thplg:

Spuwdwpwtnipjutt npny opkuputph ny funppuyht, dwlk-
phuwghtt hdwgnipiniip upnn E hwiqkgub] ny dhown tqpu-
hwugnidubph:

Ophtul] nhwnwplykip htnljw) wkuph wpnuhuwgnnpjn -
p’

VxA(x) 2 A(t),

npnid x-h nt t-h wpdbpubpp ptwut pybkp kb, huly A(x)-p npn-
ouiljh wunnud k phwlwt pyYtph yEpwpbkpuy: Gdnud £, ph wju
wpunwhwjnnipjut wpdtpp dhon hpnp dhown Lk, Lpk guuljw-
gué x ptwlub pyh hwdwp A(x) wunnudp dhon E, wyu nk-
nunpkiny x-h thnjuwpki nplk t phy wyy wignudp yhnp Ediw
&how, huly kpti ny pojnp ptwljwl pytph hwdwp £ AG)-p &haw,
wyw huyhjughugh vwhdwidwip hwdwduyt npdus wp-
nwhwpnnpmip §pihtt §hon E Ujuyhun] wnwgynd £
tpywd wpunwhwjnnipyut wpdtpp dhown &hown b: Uwmjuyt, Lpk
npyku A(x) ptnpklp Jy(x < y) wpunwhwjnnipniup, npnd y
unyuybu phwlwb phy L, b < thop hwjnth «hnpp» 1hubkjl L,
hul] npwhutptnpbiup y+ 1-p, wyuw Junwbwbp VxIy(x <
y) 2 Jy(y + 1 < y) wpnwhwypnnipynibp, npp upowy b Basn™t &
wjnu huh mknunpnipniip wipnyuwnpkh:

Unyt dbntwpynid juyupquputkt phnwpus juunhp-
ubph nsdwt hwdwp wthpudbiyn mpudwpwtwljuwb juinb-
ubtph tppnipnibubpn:

dhpoht Epyni-tpkp nwutwdjulutpnud wpwydt) uplinp-
Yt |k dwupbdwunhjuljut mpudwpwtinipjut ntunidbwuhpnt-
pintup wphbtunuwjut pwbtwjuinipjut unknddwb jutinhpub-
nht wntsynny htnwgnuunmpnitubpnud, pwth np wphbunw-



Jub putwjuwinipjutp twpbunwy wyhwnp L unynptgut) dinw-
Sk, mpudwpwly, wyt £ dhonn mpudwpwinky:

Unwowpluws dbntwplnid swpunpus mbunipjut pu-
nunphs vwubpi b wunygpughl hwohp, wpknhlunugh hw-
ohyp, $npdwy pwpwinipiniup, npt wjwpnynd L Yynnbh?
Ynnuhg 1931 p. wywugnigyusd b wn wjuop dupbdwnhljulju
poinp wpnibpubpmd judugnyiup hwdwpynn $npdw) pyw-
pwtinipjul ns (phynipjut dwuhtt hwipwhnswly ptnpbuny:

ULy Jhuwdjulh unnipjut yuwnmdwnny npny phnpbdubph
wywgnygubpp skt npynd, vwuyt pipynud Eo hpnudubpp,
npnugnid uwyn wywugnigubpp junwupjus bu:

Qntwplt wjuwpwnynud £ npnpwljh pdwbubpht epupk-
pnn  Jupdmpnitubph  jpdpwpwbwlubpny, huswywbu twb
wnwnpluyjh ophttwiih hwipguwowpny:

? Ynipn Qynnby (Kure Godel; 1906-1978) — wijuniphwgh dwpbdwnplnu, wnpu-

dwpwts, thhihunthw, npp hwyntp t hp Ynnuhg dbwljbpygus b wyugnigdus
wnbkunipnititbph ny phynipjwt dwuhtt hwipwhwyn phinpbdutpny, npnup

(hnyht thnjutightt wuwunlkpugnidubpp dwpbdwnhljugh hhuniuputph Jepw-
PPy

10



QLOR 1. GUNRSEUSPL ZUTY P ) ZUUUTYUL AL

Spwdwpwinipjut Jkpwénidp juhun dwpbdwnhjuljut

wnwplugh Yulubtp hp wdbbwwywpg &ninhg wunygpubkphb
Jipwpbpnn nmpudwpwinipniihg: Uunypp wyiyhuh wupq
wunnud £ nph pojutqunipyut depuptppug jupth £ dhwp-
dtip npnoty wyt §hown k, phi ng: Ophluwly

e Bplwip Zuywunwith dwjpupunuph k:

e Ujuop thkwpquph 30-u k:

bulj, opptiwiy, x < 0 wpunwhwynnipniip wunype sk, puth
np tpw &hown Jud upawy 1hubp jupudws k x-h wpdtphg:

Nwpq wunypitphg weuk] pupybpp jupkh b unwbwg
Yhpwekiny npudwpwtuljwi hwpnth  $nibyghubpp Yn-
tynilighu (), nhqmtilghu (Yud), huuyhljughu (pk, wguw),
dhunnid b wyj: Yhpundws mpudwpwbwljut gnpénnnipnii-
utiph onnmpjut wnmniuwlutph hhdwb ypw Jupkh £ npnoty
npqus pupy wpnuwhwpnmpjul wpdbpp. wpyn'’p wyi unyy-
twpwbnipymb b (Uhpn &hon £ wijwiu hp wwpq punwnphy-
utiph wpdtputphg), hwjuwumpini £ (Uhpn upuwy £ wjuha hp
wwpq pununphstbph wpdliplitiphg), jud s dEYu k 0’y b
Uniup: Uy unyb jounhpp upbih kot twb wy), wjuybu
nsyws, hkiwunypuht (wpuhndwinhl) kyubwlng junnigh-
10y huwdwyuwwnwupwt $npdu) hwdwljupg, nkunipniu:

T $npfuy (hEhwuniypuyhl) wnkunipiniip hudwpymd k
npnoywsd, bipt.

1. wpJws t hp 7Egnil" wypnipkip npnowljh uhdyniikph
hwoyth puqunipnitp, b wyn wypnipkih npnowljh pwuntph
puqunipiniup, npnip Ynsynd bu purlniudikp,

2. wnwdtwgywsd £ T mbunipjut pwtwdlbbph npnpwlh
puqunipinily, npnup Ynsynid bu mbumpyw Aéfwunyyphbp,

11



3. mpJws Eu T wmbumpjut pwbtwdlbph dhol Jtpowynp
pUny hwpwpbpnipiniuubp, npnup Ynsynid kb wyny nbunipjui
wpunwddwl Jubnbbkp:

Zpdbwljub quyutwputp

Thunwplbup wunypuyhtt hwoyh ) hwdwlwupgh punu-
nphsubpp:

I. Lkqnu

1. Ujpnipktu
w. p; wdpnne npulwb htunkputkpny npudwpwiw-
Jut thnthnjpwlwubp,
p- 2 (hdyhyughw) b 1 (dfunnid),
q. () qnujq huljugstp:
2. Pmtwdlkp (puntp)
w. Swijugwsd p; mpudwpwbwlwt  thnthnpuwljui
putiwdl k:
p- Bphk A-u mi B-u pwbwdlbkp tb, wyuw (4 D B)-u
putiwdl k:
q. Bphk A-u pwbwdl £, wyw (14)-t pmbiwdl k:
1. U pmtwdtip st
II. zZEuwunypubkp (wpuhndikp)
Uunypujhtt hwoyh guujugws 4, B, € pmwdltph hw-
dwp htwnlju) mbkuph puwtwdbtpp hktwunyputp Eu.
1. A>(B>A),
2. (A:)B):)((A:)(B:)C)):)(A:)C)),
3. (1IA>B)>((1A>1B) 2 A):
1. Upnwsdwt Jwintp (quunnnnipjut Juwinup) modus

ponens (m.p.)
A ADB
B

12




(A & A>B putwdlbtphg Yhpunkny m.p. Jubnip
unnwgynid £ B pwbwdlip):

Uwhdwmimu

Ay, Ay, ..., Ay puttwdltiph yEppuynp hwgnpnuljwunipiniip
Unsynud b wpunwénid ¥ hwdwljupgnud, tpk jpipupwbymnip
A; (1 <i<n) Jw'd hkwunyp b, ju'd wnwgynmd b dwunpn-
utphg m.p. jutinuny:

Uwhdwimd

A putwdbt wpnwsymd ¥ hudwlwupgnd (gpupnud E
ks A), ipk ¥ hwdwljupgnid gnmipjnit nith gnt Jkl wpunw-
onud, nph ybkpohtt pwbiwdlip A-u

Onhuwl® +5 A D A:

1) A> ((A > A) 2 A)hkuwunyp 1,

2) (4> A>4)> (4> (4>4)>4))>(A>4) bk
twunyp 2,

3) A>(A> A)hkuwunyp 1,

4) (A > ((4>4) > A)) 5 (A5 A) mp. 3,2),

5) Ao Am.p.(1,4):

NMupqupwbnid

e p; thnthnjuwlubibp pigminud ki kplnt wpdtp &hown
Jud uhwy (Gud plujiugus huduyunuufuwi-
pup 1 ud 0):

e LCunpdws O nt 1 mpudwpuwbwljub gnpénnnipjniuttph
thnpjuwpbt jupnn Eu ptapgb)] mphotubp, npnup Yhwg-
Ukl $niuljghnw) 1nhy hwdwlupg:

13



o Quljwmgstph wnljuwynipniup pwbtwdlbph vwhdwunid-
ubpnud juhuwn wthpwdbown k, pwtth np npuigny npny-
Ynud E gnpénnnipiniuttph Yhpwndwb hbppulwutnd-
pjntup: Npny nhwypbpnud, Epp gnpénnnipniutbph Yh-
punnidubph hwonpnuwljwunipniup withwyn k, qpu-
pnidubpp sdwbpwpknubnt hwdwp Jupnn Gup nputp
sqpk), htyybu, ophtiwly, hkbwunypubpnid puguljuynid
Et wpunwpht hwljugstpp:

o Zudwljupgmu wnlw L ny pt Eptip hktwunyputp, wy
wiykpe pYny httwunypubkp, pwth np gpjusutpp ht-
bwunypubph ujpbdwubp Gu: Lub bpkup, np ukpjuywug-
Jwé pwbwdlbphg nipupwignipp tnybhwpwbnipinii b,
htsytu twb tydwés wpnwsdwt Juuntp, Jhpundbing
unyuwpwinipmnitubph tfundwdp, tiwihu E inyuybu
unyuwpwinipmniie

e Zhkuwunyputphg jpipupwignipp «gnigunpnid b» npn-
owijh hujntuh duptdwnhljuljut wyugnud.

1. wpwohtip wpuwhwjnnd t hdyhjughuwh uwwh-
dwtdwt Yhnbphg dbthp. Epk hdwjhuwghwh hk-
nlutipp &hgwn k, wygw huug hljughugh wipdtpp &hon
=

Zwoyh wnubng x&y - z b x O (y 2 z)wpnwhwjnnipnii-

Ukph hwdwpdtpnipynip’

2. tpk Epypnpn hkbwunypnid wbtnbubktip A pwtwdlh
tpypnpn dntnpp, wmyw hbtwunypp wpnwhwjnnd
E hlwjhjughwih npubighnpynipnip,

3. kppopnyp  ubpluyugunid £ hwlwunn  Eupwnpni-
pjudp wywgnygubph Enipnitp. 4 wugnudt wyw-
gnigkint hwdwp Gupwnpmud Eup, np wy upuwy k

14



(&how £ 14-1), b Ept wyn twhiuwyuwydwithg unwtnid
Eup hwljuunipjnit, wmyw ghown £ A-t:
dnpdw; nmbunipjut «capunusnid» qunuthwpp pugniu-
Jud «wyugnyg» qunuthwph hndwihou b
A D A putwdlh wpunwsdwtp dwutwlgus jnipupuiy-
ip pwtwdlh wohg wnljw ku upnidubp, npnup hhdtiw-
Ynpnud ki ndjuy pwbttwdih wnjuynipniip wpnwsdw
uUbo:
A > A pmtwdlbh wpunwdnidp gnigunpnid k, np uny-
thull wjupwtt wupq pwbtwdlbh wpnwsdwt npnunudp
nynippt sk
Zbnmwquynud «jhwpunwgubup» tjupugpdus hwdw-
Jupgp unp odwinul] Jutnuubtpny, npntp Jhtrnwgutu
wju Jud wyb puwbwdbbtph wpunwsdwb gnpdplpwgp:

Upwnwsdwb jpugnighy utmbibp

Bupunpklp T = {C,Cs, ..., Cp} putwdlibiph puqunipnih
E: Qwukup, np A puwtwdbt wpumwsnid kI’ imprnugpyuybiphg
/u./, pl Jupbih £ ok A4, 4,,...,4y-1, Ay putwdlbph wytiyh-
uh Ykpouynp hwonppujwnipini, np Vi,(1 < i < n) hw-
dwp 4;-0

1) Yw'd hkuwunyp ,

2) Yuw'uT puqumpiniihgk,
3) Yuw'd unugynid k bwjunpnubphg m.p. ubnny:

Enpbd (mhnnijghuyh pnptdp wunypughtt hwodh hw-

Epb I-hg m A-hg wpnwdymd k B’ T,4 k5 B, wyu -hg
wpnuwdynmdEA> B Ty A D B:

15



Unywugnig
I,A g B, htnlhwpwp vwhdwidwi hudwdwyl
A +5 By
.. Fz By,
. ks By
npnid B;-t ju U hktwunyp b, u U T puqunipynihg b, ju'd A
putwdli b, ju'd uvinugymd t bwpinpyitphg m.p. jubnung b
B, = B:
By, By, ..., B, puwtwdlbkph mipupwtyniph wnolihg wybkjwug-
ukup 4 o:

A DB
A DB, (1)

A DB,

Uju hwgnppujutinipjnitip Jupnn E wyjbu wpunwsdnid sjh-

ut): Smipwpwsnip (4 O B;) pwuwdlhg wnwe wykjwg-

ukup wjtywhuh pwtwdlbp, np (1)-p yuotw wpnwsnid

dhuyu I' bwppwnpyuyubphg:

1. Bphk B;-u htwunyp t jud I' puqunipjnithg k, wmyw
A > B;-hg wnwe wkjuglkip’
B; hkuwunyp jud twhiwnpyuy,
B; o (A o B;) hktwunyp 1,

npnughg A O B;-t unnwgynid £ m.p. jutntny:

2. Bpk B; = A, myw A D B;-hg wnwe wykjugutip A o 4
puttwdlh wpnwsdwt wnweht snpu pubwdbbpn:

3. ©phk B;-u unwgyk] k twunpnutphg m.p. uununy, wy-
uhtpll' ulqpwjutt wprnwsdwt vy wnlw thtu hb-
nljw) pubudlibpp
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Bjj<i
B; O B;
B, m.p.
Zbnbwpuwp, pun 1. b 2. Yhknbkph, pugus hwonpnuljuiine-
pniunid mukup A © B; b (A © (B; D B;)) pwtwdlkpp: A O B;-
hg wnwe wykjugukup.
(A> Bj) > ((A> (Bj 2 By)) o (A > B;)) hkiwunyp 2 m
(A > (Bj 2 B;)) o (A > B;) m.p. i junnwiwlip
A D B, m.p.
hnpbdt wuywugnigus k:

Thunnmpniu

e Gphk B-u I''hg nt A-hg wpunwsynid £ n puynud, wyu
A o B-u wpunwbynud k I'-hg ny wbihb, pwt 2(n — 1) +
4+n =3n+ 2 puynud:

e Mnnighwjh ptnpiuh wywugnigdwt dke bujut nbp k
fownnud  Epypnpn hkbwunyph A pwbwdlh Epypnpn
Uniwnpp:

e hnnighwjh phnptup ogunwlwp £ A 5 B wkuph pu-
twdlbph wpnwsdwt hwdwp. A-u Jipgynd E npubu
twhiwunnyu), nphg wpunwsynid £ B-u:

e U> U wmbuph pwbtwdl wpnwskint hwdwp sh jupkh
Yppwnk) nhnmyghugh pnpbup, pwih np Jtpghupu
wwwgnigp hhdudws £ U D U inbkuph wpnwsdwt Jpu:
Uwubun]npuy by, whpnyjuunpth thbnbyw

A>(B>2C)>2(A>(B>20))
pwtwdlh htwnljw) wpunwsnudp.

(A>(B>C)),A +s (1BDC)
(A>(B>C)),ABrsC

17



(Ao (B>C)),ABrs Al
(A>(B>()),A-Brz(AD(B20)
(A > (B> C)),A,WB Fs 1B D C m.p.
(A>(B>C)),A1B +s 1B

(A> (B> ()),A1B +5 C m.p.

Bpynt odwlinml Jwinbtbkp uhynghquukp
Uhyinghqu 1
A > Bl B > C twpuwunpyuutiphg wpunwdynid £ 4 o C:
Zudwdwjt nhnniyghugh phnphdh‘ pujuljut £ A O B-hg,
B > C-hglh A-hgupuwst) CADB,BoC, Aty C
Fs Al
s A D Bu.
Fs B m.p.
Fs B D Cl.
s C m.p.
Uhyinghqu 2
B 1A > (B > () twhwunpuiiphg wpunwdynid £ A4 o C:
Zudwdwyt nhnmlghugh phnpbdh pudulwb E B-hg,
A> (B> ()-hgluA-hgupunwust) C B, AD (B2 (), A 5 C
ks AL
Fs AD(BDC)u.
ks B D Cm.p.
ks B
s C m.p.
«Zpuowh» puttwdltp
Nunnid
A, B guujugué pwtwdlbph hwdwp ubkppnhhojuy «hpw-
ouw h» pwtwdlbpp (h.p.) wpnwsynid G £ hwdwljupgnud:
(a)11B o B

18



(b)B 2 11B

(c)1A > (A>B)

(c)*A> (1A D B)

d (B>14A) > (A>B)

(e) (A> B) > (1B > 14)
HA>(B>1(A>B))

(g (A>B)> ((1A>B)>B)

Uwwgni)g

(@) Fx 1B O B.

1.(0B 2 1B) o ((1B © 11B) D B)
2.1B> 1B

3.1Bo1B)DB

4.1B o (1B o 11B)

5.11B> B

(b) Fs B> 11B

1.(11B > B) > ((111B > 1B) > 11B)
2.1MB > 1B

3.(111B > B) o 1B

4.B > (111B o B)

5.8 > 11B

(c)Fs1AD (ADB)

2.4
3.AD (1BD A)

19

hktwunp 3
wpunusjus putwdl
m.p.

hEtwunyp 1
uhinghqu 1

hktwunp 3
h.p. (a)

upjinghqu 2
httwunyp 1

uhynghqu 1

u.
.
hEtwunp 1



414 > (1B o 14) hkuwunyp 1

51Bo A m.p.
6.1BD 1A m.p.
7.(1B>A) o ((1B>14) o B) hEtwunyyp 3
8.(IBoA)>B m.p.
9.B m.p.

Utinud E Epynt wmbquid Yhpwnk) ninnijghwyh pinpbudp:
Uluhuyun £, np (¢)*-p wpnnwsynid £ unyb Yhpw, his (c):
(d)r+s (IB214A) 2 (ADB)

1.1BD 1A u.

2.A u.
3.(IBoA)>(IB>14A) o B httwunp 3
4.A> (IB>A) htuwunyp 1
51Bo A m.p.
6.(1IB>14A)>B m.p.

7.B m.p.

Utinud E Eplynt mbquid Yhpwnk) nnniighwih pinpbdp:
(e)Fz (ADB)> (1B > 14)

1.ADB .

2.1M1AD A h.p. (a)
3.1M1AD> B uhynghqu 1
4.B > 1B h.p. (b)
5.1M1A> T11B uhynghqu 1
6.(11A > 11B) o (1B 2 14) h.p. (d)
7.(1B 2 14) m.p.

Utinud £ jhpwnt] ninnighwgh plnpbdp:

(gtrs(A>B)> ((14A>B)>B).



1.ADB u.

2.1A>B u.
3.(A>B)> (IB214) h.p. (e)

4.1B D 1A m.p.

5.(1A 2 B) o> (1B 2 114) h.p. (e)

6.1B D 114 m.p.

7.(1B 2 14) o (0B 2 11A) o B) hEtwunyyp 3
8.(1IB>T1Tl1A) o B m.p.

9.B m.p.

Utinud E Eplynt wmbqud Yhpwnk) nnnijghwih pinpbdp:

NMupqupwbinid

Uju «<hpwpwih» pmuwdltnhg jmupupwtynipp upbnp nhp
ki jpwnunt hbnnwqu nhnwpynudutpnud, b npuighg nipw-
pwisjnipp hp htippht tipjuyuginid £ puuwljwt npudwpw-
unipjwtt npnowljh npnip.

w) 114 2 Al A D T4 putwdlbbpp «upnud» G, np jnipw-
pwisinip wundwb Yplhtwlhh dpunnuwdp hwdwpdbip £ wyy
wunduinp,

p) 1A > (A4 > B)uA> (1A o B) pmtwmdlitipp «upnud» L,
np Lpt hwdwlupgnud htwpuynp jhth wpunwstk] nplk A
wunnudt nt bpw dunnudp, wyw jupunwsyh judwjulwubt B
wunnudp, npbt Jupnn k (hubk] wuhbpbpnipnit, 14 > (A 5 B)
puttwdlip tonid £ il hdyhjughwh vwhdwidwt bu kY k-
up. kpk A O B hduyhjughwjh A4 twpwwywydwip upowy E, wy-
uhlipti' 14 -t &hownn E, wgw 4 © B - §houn E:

q) (A>2B)> (1B>214) b (1B 2 14) o (4 2 B) pwuwdltpp
«upnud» Et hdwyhughuwyh nt dundwt thnjuhwpwpbpnipnii-
uknp,

n) AD (B> 1(4 o B)) pwtwdlp «upnid» k hduyhljuw-
ghuwjh «upuwp» wpdbp punniubnt wuwydwp,
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k) (A> B) > ((14 o B) 2 B) pwuwdlp «upnud» k, np tph
nplbk wiunmd Jupnn E unwgyl) Epynt hpwp hwljwunn twjow-
wuydwhibphg, wyw wyt «quy sniith» pputg htiwn:

EEnpbd (wunypwjhtt £ hwdwljupgh wthwjwubjhnipjut
b ;phdnipjut dwuhi)

1. ¥ huwdwupgnd wpunwsynn judwjyulub pubtwdl

unyuwpwinipmnil k:

2. Gudwyulut tnybtwpwbnipnit wpnwsynd k£ £ hw-

dwljupgnid:

Uwywugnyg 1

“thgnip Z-nid wpnwsymd kA pmtwdlp: Uguwugnigkup, np
wytt tnyuwpwinipinih k:

Cutn uwhdwidwlb' gnymipjntt nith pubwdlitph wyiuhuhb
Jtpowynp hmgnpr}uﬂlulhan]nLh‘ Ay, Ay, ..., Ay, npnud nipwi-
pubsinip 4;, 1 <i<n jw'd hkbwunyp k, ju'd uvnwgdnd k
twhunprutiphg m. p. juununy: Zkuwunyputphg pipupwisnt-
np unybtwpwinipnit k, hull tnybwpwinipjniutph tjun-
twdp m.p.-p Yhpunkny uwnugdnud t inyupunipynit, h-
wnbwpwpn A,-p, npp A-t E inytwpwtinipinit k:

Uwwugnyg 2

fFinpbuh Bphypnpn Jhnt wywugnighint hwdwp wuwgnt-
gtup Uh odwinul] yunnd (Eddw):

Yujdwpp3 (kddw

“hgnip A(py, P2, .-, Py) puwtwdl kE, npmd dwubiwlgnid
P1, D2, - Pn  Wpulwpwtwlut  thnthnpwlwbuubpp, b o =
(01,0,...,0,) npuk hwjupwént k n-swthwth dhwiynp junpw-

* Lwypn Qupdwp (1905-1976) — hntiqupugh dwpbdwnhlynu, nph hhdbwlwi
htwnwgnunmipniutpp YEpupkpnud Eu Ghpbnubnhlujh dwupbdwnhljului
wpop bdutpht, dwpbdunhljuljut dbptuiwtbph wkunipjuup, dupkdwnh-
Julwl mpudwpwinipjuip, Spugpuynpdut mbkunipjubip:
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twpnhg E™hg: Uy nhupnid pt,py?, ... pp® twhiwnpyutkphg
wpunusynid k 44O -0n),

o o o A( 04,0%,,...,0;
D1 1’p2 2,___’pn n|_ZA (01,02 n)’

| o _ (PO =1

Uuwwgnig

Uwugnygp Junwupbip dwljwsdwb bquiulnd pun A-h
Ubky dwntinng pninp npudwpwbwlut bpwbutbph pwtwlh: Gu-
punpkip A-mud inpudwpuiwljwi bywhibph pubwyp k

Uwlwédwl hhup

Bplk =0, wyyu A =p;: Gptio; = 0 jud 0; = 1, wmyw hw-

duywnwuuppwbiwpwn Ip; by Ip; nLp; Fx pyi:
Uwlwédwl Gipwunpmipniup

Bupwunpklp k-U sqhpuquignn pwlwlny npudwpwi-
Jut bywbkp wupnitwlnn pojnp pwbwdlbpnh hwdwp wunne-
up &hown k:

Uwlwsdwl puyy

Uwugnigkp k + 1 hwwn tpwubbp wwpnibwlnng pwbw-
Autph hwdwp: Gpk A-mud k +1 huwn bywbibp jub, wyu
httwpuynp Eu hknlbywy Epynt nwpkpp.

w) A-u14; mbuph k,

A;-p wqupnibwlnud £ k& hwn bywl, hbmbwpwp tpw hw-

dwp wunnudp &hown t: dkpgutup (o, ... 0,) hwjupwsne.

_ (1 = A0y, .,0) =0 (D)
A(O'l, ---Gn) - { 0o = All(o'll,...,O'n) =1 (ii).

(i) Eupunbtypnid, hwdwdwjt Eipunpnipjul,

P1°1, 0272, ..., Dn %" by 1A
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puyg T1A;-p hkug A -u &
(i1) Eupunbypnid, hwdwdwyt Eupwunpnipjul,

P14, 02%%, ., D" by Ay

s A1 D T1A; hp. (b)
Fs 114y m.p.
puyg 11 A;-phiuig T4 -u k&

p) A-u A; D A, wbiuph k A;p b Ap-p wupnibwlmd G
wnwybkjugnyupk hwwn bywhb, htnbwpwup tpwbg hwdwp
wunnudp dhown b dhpgutiup o = (04, ... 0) hwjupwdnil: Zuw-
pujnp kb htwnlyw) kpkp tipunbupbpp’

(D) A (0) =0 A(0) =1,
(i) A;(0) =1,4,(6) =0 A(s) =0,
(iii) A, (0) = 1 A(0) =1

(1) Gupwnbypnid, hwdwdwji Lupwunpnipjul,
Pyt e, DA by 14,
Fx 141 2 (412 4y) h.p. (c)
Fs A1 D A, m.p.
puyg A; D A,-p hkug A-u k:
(i) Bupunbwypnud, hwdwdwju Lupwunpnipjul,

O O.
P D" by Ay

ks 14,

Fy Ay D (1A, D 1(A; D Ay)) h.p. (
Fs 14, D 1(4; D 4,) m.p.
Fs 1(4; D A4y) m.p.

puyg 1(4; © A)-p hug 14-u k:
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(iii) Eupunbwypnid, hwdwdw) tupwunpnipjul,

Pyt bn by Ay
Fs Ay D (A1 D A4y) hEtwunyp 1.
by A1 DA, m.p.
puyg A; D A, -phtug A-u k:
LEuddwlt wywugnigdus t:
dhpwnuntwip ptnpbuh tplpnpy Yenh wmywugnyght:
Uuwugnyg 2
Mukup, np A(py, ...Pn) = 1:
Sudwdugh Ywpdwph  (Eddwgh judupulub o =
(04,07, ..., 0) hudwip pfl, ., p;:" Fy A:
Uwwgnygp gnigunpbup n = 3-h hwdwp: A(py, ...pn) = 1

pt p2 ps

0 0 O {]p1:1p2'1p3 Fz A
0 0 1 Ip1,1p2,p3 F5 A
010 {]pl,p2,1p3 Fx A
0 1 1 IP1,p2,p3 Fx A
10 0 {pplpz,lpa Fr A
1 0 1 P1,1p2,p3 Fz A
1 10 {p1'p2']p3 Fr A

1 1 1 (pyp2p3 Fz A

Unwiohti qnujgh htn unwpkip htnbyuyp
1p1.1p2 bz 1ps 2 A nligniyghwyh plinptd
1P.1p2 Fx p3 2 A nlpmiljghugh pnpbu

Fr(ps 2 A)D((J]ps 2 A)DA)  hp(g).
Fr(Jp3D2A)DA m.p.
by A m.p.

Zhnbwpwn |py, |pz Fx A, wjuhtpt' hwennytg wquundby
tppnpn bwpwunpyuhg:
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Ujniu bpkp qnuygbph hkwn tunyt gnpénnnipjniutbpp Juw-
nwupbny o §phl qmqudnpbing’ juinububp.

{]pp]pz Fz A
Ip1,p2 Fx A’
{pp]pz Fz A
pup2 Fz A

Upwlg htwn bu Juwunwpkng tmgh gnpénnnipyniulbkpp
Jumnwbwtip.
{]pl Fe A
p1 ky A

Upwlg htwn Lu Juuwpkng tngl gnpénnnipyniulkpp
Junwbtwip, np wpunwsynmd E A-u: Uju gnpénnnipjniubtph
gnigunpnithg wupq tplinwd E, np nputip hwenpnwpwp Jupk-
1 E Yhpwunt) n-h judwjwljwt wpdtph hwdwnp:

Enpbdt wmuyugnigyus k:

Uwhdwimd
dnpdwy (Ahuyuwmgyws) hwdwlwpgp Ynsynd b whhwlju-

uljh (qupq wihwluwubih), tpk ny Uh A pwbwdlh hwdwp
httwpwynp sk wyn hwdwjupgnid wpunwsk " 4, b" 14:

Uwhdwimd
dnpdw hwdwlwupgp Ynsynid L jppy, Epk guulugus

&hownn wunmud (bnybwpwnipiniip wunypwyht hwoynid) tpw-
unid wpunwsynid k:
Uwhdwinid
dnpdw] hwdwlupgp Ynsyymd bt jmedfgh, Lpt qnnipmit
nith wjtyhuh dh wygnphped, nph dhongny juduwjulju A pu-
twdlh hwdwp upkh Eunmgl] wyi wponwsynd £ oy

huwdwlupgnud, ph ns:
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zEwnbwputp ptinpkuhg

1. Uunypuyghtt hwpgh ¥ hwdwlwpgh wthwluwubih k
(pjund £ phnpbiudh wnwghtt Yhnh wunnidhg):

2. Uunypuwjhtt hwogh ¥ hwdwljupgp 1phy k (pjunid E phin-
ptup tplypnpn Yenh wunnudhg):

3. Uunypuwjhtt hwpyh ¥ hwdwljupgp jnwskh k (wmjgnphpe-
up hbwnlbjuyt . uwnnigynud £ pwtwdbh inyuwpwinipni 1h-

i Y yyhlokyp):

Spudwpwbwlwb gnpénnnipjnitukph tkpdnuddwt b
wpunwpudwi odwinul Juinbiikp

Ujunithtnn Yhpunkup bu Epynt mpudwpwbufut tywb-
Ubkp & (Yniynighw) ni v (phgnibjghw) npwbu hknbyw) pu-
twdlikph Ypgwn tpwhwlndubp’

A&B = 1(A 21B),AvB = 1A>B:

Zknljw) wnniuwlh «ubpdnidnud» yniyuynud ubpliuwywg-
Jwé E mpjwd wpnwphtt ipwiny pwbwdlh wpnwsdwt tnu-
twlp, hulj «cwprnwpunit» unityuynid tpynd k, phk hy Yunpkih
E wpunwst] npjus wpunwpht thony pwtwdlihg:

Spudwi-
purti-
Juh Lhpunidnid Upwunupunid
towutkip
(quubp)
TAry;B [LALADBFyB
' -y A DB
) “hnnijghuyh phnpbd modus ponens
' s ALTl +;B 2.VA&B 5 A
& ' - A&B IA&B +; B
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[ Fr AT ;B LA CUT B C
v " T +; AVB " T,AVB 5 C
¢ APy BUDA b B | 74 by BULTA 15 1B
1 ' [ 1A ' [ kA
zEuwunype 3

Uju Juuntubph fhpwenidp hhdtwgnpbnt hwdwp pudw-
it k gnyg g, np.

1. k5 AD (B2 A&B) wyuhlpt' Hx A> (B> 1(A 2 1B)),

2. +y A&B D Auyuhlpl’ 5 (A D1B) D A,

Fy A&B D B wjuphupt' 5 1(A 2 1B) D B,

3. Fy AD AvBuwjuhtptt’ Fy A 2 (1A > B) h.p. (0)%,

Fy B D Av B wjuhupt' +y B D (1A > B) hktwunyp 1,

4 +ry(A2C)>((Bo>C)>(AvBD0)),
wyuhtipl' Fy (AD C) D ((B 5C)>((lA>B)> C))

5.y (Ao B) > ((A>1B) o 1A):

Ujuyhuny puduljut £ wuywgnighk] bold-ny urywé hhug
putwdlbbtpp (Quwnwpk] huptnipnyt), wyw Yhpwnbk] m.p. ju-
untip UEY Jud Eplnt mbquud:

ZEtmunypubkph vubdwbbtph wijwhmipnip

Pninp hktwunyputph M Eupwpwuqunipniip Yngynd E
wiuwh, tptk M puqunipjut nplk hkbwunype sh Jupnn wp-
nwsyl] njju; nbunipjutt wpnwsdwt Juwinbubpng M-ht
syyuwnljuting hkbwunypubphg:
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ftnpbd
2 hwdwlwupgh hktwunyputph upubdwubphg mipupwi-
sjnipny npynn hkuwunypubph puqunipniup wawh k:

Unywugnig

Lwtth np wju hwdwljupgnid niukup htuwunyputnh tpkp
upubdwitbp, wyw pnnp hktwunyputph puqunipniup mpnh-
Jws Lk tpbp shwwnynn tupwpwuqunipiniutph: Ujuhwyn E, np
pninp httwpuwynp wpunwsnidubph hwnwpydwdp wyn Gpkp G-
pwpwquUnipniiubnh wijwhnipjut hwpgp nust] hbtwpwynp
sk: Uktip Yhpwntiup wy Enuwbwy. htbwunypubph ujubkdwub-
phg jipupwiginip pinpfwsh hudwp fujupwugpyh npnpwlih
«nuppbpulynn hwwnlnipnity, npny odndwé Yihuku djniu
EpYynt ujubdwttph pnjnp hkbwunyputpp, m. p. juwunth Yhpw-
pnudp juyuwhwwih wyn hwnlnipiniup, hull ndju) vjubdwgh ny
pninp hbkbwunypubptt Bb pudupupbint wyn hwnlnipjubp:
Uynuhuny Juuugnigyh, np pinpdws upebdwgh popnp hktw-
unypltph puqunipniip wijwj t dpniu Epynt ujpbdwubph
htuwunyputnh puqunipniiutnhg:

w) Ulubkup hktwunyputph Gppnpn ujubdwjhg, puth np
dhuyt tpwtinud £ wpunwpniun wnju dundwt thop: 2 hwdw-
Jupgh jmipwpwignip A pwbuwdbh hwdwp h(A4A)-nd brwbw-
Ykip wyh pwbwdlp, np vnwugdnd t A-hg Gpwbnd popnp
dundwt uhptpp ougkiny: A tnybtwpwnipniup jutdwuukup
«qurfy, Liph h(A)-u unytybu tnybwpwbnipmit k: Fdup sk
huwnqyt], np h(4) wpnuwyuwwulbpdwut hwdwp uwnnyg o
hEwnlbjw) wugnidubpp.

e h(A>B)= h(4) > h(B),

e h(14) = h(4),
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e m.p. juunuh Yhpwnnidp yuhwywinid b «uy)» thuknt
hwwnlnipjniup,
e Lphk A-U wnweht ujutdwh judwywlwit hktwunype L,
www h(A4)-u tinytwpwtnipniu k,
e bphk A-u Epypopy vubdwyh judwyulwt htbwunyp L,
wyuw £ (A4)-u inybwpwinipinib b
Uwluyt tppnpny ujubdwgh ny pninp hEtwunypubpt
quy/rn: Oppuwy, tpt A -t htnlyw) hktwunypt | A: (Ip; D
p1) 2 ((Ip1 2 1p1) 2 1p1),
wyw h(A)-u (py 2 p1) 2 ((p1 2 p1) 2 p1) pwbwdlb E nph
pugniinud £ 0 wpdtpp p; = 0-h hwdwp: Ujuyhuny® htuw-
unyputnh tppnpn ujpbdwb wiljwp E wnweht tpyniuhg:
Unwgoht nt kpypnpn ujubdwttph hktwunyputph puqune-
pintukph wujwnipyut wywugnigdwt hwdwp «nupplpuly-
Ynn hwwnlnipnibtubpp» vwhdwtbup® hhdudbny puquunpdtp
npudwpwtinipiut Ypu:

p Zhbwunypbbtph wpwoht upubdugh wilwjunipjub
wywgnigdwtt tywwnwlng ghunwpyiip judwywlui 4 b B
pwtwdlbbtph dundwt nt hdyhjughwh wpdtpubph hwdwp
tnwundtp mpudwpwtinipjut hknbjw wnniuwubkpp.

A 1A A B A>DB

0
1
2

S =
N —_, ODNRFR ODNRFRO
NDNNRRRJp O oo
oo NONNODNO
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Ujuhwywn E, np pwbtwdlbih thnthnpuwjuuttph 0, 1, 2 apdtp-
ukiphg Juquwsé judwjywulwubt hwjwpwénih hwdwp s
winniuwljubpny vhwpdtpnpkt npnoynid £ pwtiwdh wipdtpp:
Puttwdlpn juiuduibup «uwgp, tpt wyt pugniund E dhuygt 0
winpdtipp: *ddup sk hwdnqyb, np Epypnpn o Gppnpy upubdw-
utiph mupupwignip hkwunyp «wyr» L m.p. juunth Yhpw-
pnudp wwhwywtnud k «qazgl» (hukint hwnlnipiniup, hbwnbwpwp
tpypnpn nt Eppopn ujubdwttph hbbwunypubphg wpnwsyng
nipupwisinip pwbwdl whwp b 1htuh «wyp, vuljuyt wnweht
ufjutidwyh hktwunyp hwinhuwgnn p; 2 (p, 2 p;) pwbwdlip
«jurgpr sk, putih np p; = 1 n1 p, = 2 wpdbtpubiph hwdwp punne-
unud £ 2 wpdbipp:

@ Zbuwunypubkph btpypnpy  upbdwh  wijwunipyut
wywgnigdwtt tywwnwlng ghunwpyiip judwywlui 4 b B
pwtwdlbtph dundwt nt hdyhughwh wpdtpubph hwdwp
tnwupdtp mpudwpwtinipjut hknbjuw wnniuwfubkpp.

A 1A AB A>SB

0 1 00O
1 0 100
2 1 2 00
01 2
11 2
210
0 21
1 2 0
2 20

Ujuntn bu putwdlip jubuikip «uwipy, bpl wyt punne-
unud £ dhuyt 0 wpdbpp: FdJup sk hwdnqyb], np wnwghtt nu
Eppopy upubdwubph jnipupwiygnip hbwunyp «ayps &, m.p.
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Jwunth Yhpwnnidp yuwhywinid b quwyp» thuknt hwnlnt-
pintup, hbnbwpwp wpwehtt ni tppnpny ujubdwubph hEtw-
unypltphg wpnwéynny pipupwisnip pwbwdl whwp k 1hth
Jwyp, vwluyt Epypnpn upjpbdwgh hkuwunype hwinhuwgnng
(p1 2 p2) 2 ((p1 2 (P2 2 p3)) 2 (p1 2 p3)) pubwdlip «uyp» sk,
pwth npp; =1, p; = 0 b p; = 1 wpdbputiph hwdwp pugnitund
k2 wpdtipp:

Ujuyhuny® phnptdt wdpnnonipjudp wuywugnigytg:

Zbwmwppphp E, np wyju pnpbdp thwunnud E tpkp hbtw-
unypubph ujbdwibpny wpnwhwynjwsd dupbdwnhlulju
npnpwlh gpnyputph  JEyp  dmniubbpng  wpunwhwynbino
wtthtwphtunipyut hwihqudwpp:

Ujuyhuny® wjuwpunbkghtp wunypwyhtt hwpyh niuntdbw-
uhpnipnilp, npht hkdkny hknwjum §nhnwplkip wounby
pungplnit b pupn mbunipnibubp:

Lpugnidukp

Quuywsé ¥ hwdwljupgp pujwljuthtt wupq L, gnnipmnit
niukl wunypuyht wy hwdwlwpgbp, npnugnid unyputs htipn
E wpluwnky, hispwtt & hudwljupgnud (nku [1], ke 48-51):

111 D wpwhkph thnjuwpbt Jupnn Bup gnpdwst) npudw-
putufub juwbph $mulghnturg ppy wy) judpbp:

“Thunwplkup ophuwlubp:

Ly: Spudwpwtwlut juwbkpt Eu v i 1, hull A > B swnw-
jnud E npujbu pdun qpljwdl 1AvB hwidwip:

2npu hkbwunypibtph uukdwbbpb b

. AvA D A,

. ADAvB,

. AvB D BVA,

. (BoC)>(AvB 2 Av():

B W N =
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Uhwl] wpnwsdwt Juunup modus ponens -u L

Ly: Spudwpwbwljut juytpt kb & b 1, hulj 4 2 B §pdwun
tpwbwlnudt | 1(A&1B) hwdwp: Gplip hktwunyputph upjubdw-
Ubph b

1. A> (A&A),

2. (A&B) oA,

3. (A>B)> (1(B&C) o 1(C&A)):

Uhwl] wpunwsdwt Juuntu E modus ponens

L3: Uju hwdwljupgp owwn tdwb £ £ hwdwlwupght: Suppk-
pnipgnibb wyt k, np Epkp hkbwunyputph vjubkdwubph thnpuw-
pku (Al)-(A3) wjunbn welw b pugudbup tpkp huwnwl,
npuiwpw it thnthnwwibpny wpgws, hkwunye:

L p12 (P2 2 1),

2. (1> (22 p3)) 2 (1 2 p2) @ (P12 p3)),

3. (Wpz 2 p1) = ((Op2 2 p1) = p2):
uwiljuytt pugh modus ponens-hg w wpnwdtwi bu Uk nh-
nunpdui Juunbp, npp poyp £ mmwjhu thnjowphil] judwyw-
jut pwbtwdlnid guujugus thnthnjuwljuih pninp Ununpbpp
nplk wy] pwtwdlng:

L, Spudwpwbulul Juubkph k' 2,&, v b 1: Uptnwusdwh
dhwl] uunup' modus ponens: Zktwunypubpp mpynud ki hk-
nlyw) upubdwtpny’

1. Ao (B>A),

(A>D(B>(C)oD(A>B)>(A>C()),
A&B DA,

A&B DB,

A > (B > (A&B)),

A D (AvB),

B D (AvB),

>0 >(B>0 > (@AvB) 0),

® NV WS
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9. (A>B)> ((A>]B) 214),
10.14 > 4:

A = B unyuu k, hus ((A 2 B)&(B 2 A):

Jupdnipjniubbp

1. Unyugnighy, np.

(WADBFr, CVADCV B,

(b)F,, (ADB) > ((C>A) > (C> B)),

(c)CoA, Ao B, Co B,

(d)F;, AD A(wuhupl’® F; 1AVA),

(e)F,AVIA,

(O, ADTIA,

(g)F1, 1BS(B2C),

(h)F, AV(BVC)>((BV(AVC))VA),

()t (BV(AVC))VADBV(AVC),

()1, AV(BVC)DBV(AVQ),

(k)1 (AD(B2C))2(Bo(ADQ)),
(OF;,(CoA)>((ADB)>(CoB)),

(mA>((B>C),A>B+, A>(A>DC0),

(n)AD(B>C),AD B, ADC,

(0) kpk I'AF, B, wmuqu T +;. AS B (nhinnijghwjh plinpkd),
(p)BDAJB:)AI—LlA,

(@F 1, A wyt b dhuyb wyt nhwpnud, bpp A-t tnyjtwpwtimpym k:

2. Unywugnighy, np.

(@)A > B,B > C r;, 1(1C&A),
(b)k1, (A&A),

(c)k1, TTADA,

(d)F,, (A& B)>( Bo1A),
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(e)F,ADTIA,

(O, (AD B)2(1Bo1A),

(g)1AD1 B, BOA,

(h)ADBF,,C&AD B&D,

(i)A>B,B>(C,C>D I—LZA DD,

()1, ADA,

(k)F1,A&BDB&A,

(A> B, BoCt,,ADC,

(m)AD B,CoDF; A&CD B&D,

(n) BoCr,,A& BoA&C,

(0) k1, (AD(B2C))>((A&B)>C),

(p) k1, ((A&B)=C)>(AS(BC)),

(9)A>B,A>(BoC) +;,ADC,

(1) b, AD(BDA&B),

(s) b,AD(BDA),

() tpE LA+, B, o I’ +;,ADB (nhnnighwjh ptinph),
(u) b1, (TADA)DA,

(v)JADB, 1ASB+,,B,

(W) b, A gt b dhwygt g nhypmd, Epp A-t inywputmpm k:

3. Unyywgnigky, np.

(a) by, ADA,

(b) tpk LA+, B, To '+, ADB (nhinniljghujh phinpk),
(©AD>B,B>CH,ADC,

(d) b, (AD B) o (1B 5 14),

(e) B,1B +,C,

(f) k,,B > 11B,

(&) k., 1B 2 (B> (),

(h) B> (1€ 21(B > 0)),

@)k, 1B > (1€ 2 1(B V C)),
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() b, (1B 2 A) 5 ((B 2 4) 2 4),
(k) F,Awgt b vhuyb wyt nhwpnud, kpp A-U tngtwpwtinipynit E:

Uunypujhtt hwpgh hwdwp Jupnn Gt jupniggb] hwdw-
Jupgtp twlb dhuyt Uk hEtwunyph vjubdwyny:

Ophtmy, tpt dkup yYbpgund Bup T b O, wyw dhuyh
modus ponens Juuntuny pwjwpwp bt hbnlju; htbwunyph
upubdwl (Ukptnhwn).

[((A>B) > (1€ 21D)) 2 E] 2 [(E > 4) > (D  A)]:

Uju wnbkuwlh dkly wy ophtwl] Yupnn kE dwnuyk] ‘Lhinnh
hwdwljupgp, npmd oquuugnpdynid £ dhwly gnpénnmipjniip
Chdtph Pnruljghw (dhunnnidubiph nhqniijghw) mpudwpwtiw-
Ju juwn: ZEbwunyph ujubdwb k.

(AIBICHHIPIBID|[EIB)|(CAIE)|CAIE))]},
1 Uhwl wpnwsdwl Juintng €-u htwnlmd £ A -hg b A|(B|C)-
hg (Lplyny):
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QLOR 2. 1CTYHYUSUSPL 2UTHhY, P

Lwihu wupq ophttwjh ypw hwdnqybup wunypuyhtt hwoyh
wlpwwpup (huknt dkg npny &hon nunnnnipynibubp ju-
wnwpbint hupgnud: Thunwpykup htnbyuy Epkp wwupgq wunyp-
ukpp.

1. Updkup Utnwoh Enpuypt k:

2. Unipkp Ulniph Enpuynt k:

3. Updkut nt Umipkup Enpuypubp B

Ujuhwywn E, np wpwghtt plyniuh &odwphwn (hubkinig ppanud
t tppopnh Lodwpunnipiniip: Gptk thnpdkup wyn Eqpuihwtgni-
Up ubpljuyugul] wunypuwjhtt hwodh p; &p,; 2 p3 pwbwdlh
wntupny, wmyw nddup sk mbutk], np wybt tnybwpwtnipmib sk,
pwih np wpudwpwbwlui thnthnjpwluwutbpp wunypwjht
hwoynid punnitnud B wpdbpubiptt hpuphg wuwh, hull gh-
nwpus wunypiubpnd wnju Bu Ypluynn wudhup, hbnbw-
pup thnthnjuwubibph wpdtputpp whwp b jhuku thnplju-
wulgwsé: Thunwpyws wunnudutpp hpwlwunid npnowlh
hwpwpbpnipjniuitp B, wyuhtiptt® ypinhluwnubp.

P1(x,y)" «x-p y-h knpuypt b,
Po(x,y)" «x-pl y-p tnpuyplibp G,

npnug oquugnpddwdp Junpkih £ hwdnqdby, np x,y,z thnthn-
huwjuuitph Juduwjuljut wpdtpubtnph hwdwp
P1(x,y) & Py(2,y) 3 P;(x,2) puludlih wpdbpp &how k

Loklip bt wy) hwbhqudwtp: Zwdwh dkup gnpswdnid Lup
«quluywlul pinulwb pyh hwdwpy wpnwhwynnipniup, npp
owbwlynud £ «7-p hwdwpy, «2-p huduyy, «3-p huduwyp» b wyn-
yhu sowpnibwl], uvwuy httwpwynp st pwbwdbnid niukbwg
wtybpe pwbhwlnipjudp & thop, husp unhwynid £ $npdw) nk-
unipniund tkpgpuyl) vV punhwipnipjut swduhs thon:
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Ujuyhuny® wuhpwdbton k quntunid by bu hwpunwugub)
wunypuwjht hwohyp:

Lwjutwljuwt quyutwputp

P yntghuwnwhtt hwoyh vwhdwinidp

I. Lkqnu

1. Ujpnipkl
w. D1V (),
P a;, 1 < @ wpwpluwyuljut hwuwnwwnnitibp, npnig
puqunipiniup Jupng b jhubk] quunwply, yEpowynp nu
winfbipg,
q. x;, i = 1 wnwpluwyuut thnthnjpwljwuubkp, npnig
puqunipiniup whwnp L 1huh dhuyt wudbpy,
1. fili, i = 1 $niuljghntiw thnthnjowlwkp, npnt-
gnud [;-u gnyg k vnwhu dnrughuwgh swihnnuljuiine-
pmiip  thnthnjuwlubbbph pubwlp: Smblghniug
thnthnpuwlwbubph puqunipnitp upnn khut) qu-
wnwpnly, yippuynp nt wudtpg: Gpl $niuljghntiw) thn-
thnjuwjuuttph puquUnipniip qpuunwupl b wwyw
wptnhljwinuyh hwphp Ynsyoud b dwpnip wptinh-
Juwnuyhtt hwohy:
k. Pfi>1, wpbghjuwnught hnthnjwlwbibp,
npnugnid k;-u gniyyg E vnwhu hwpwpbpnipjut swthn-
nuiwuiunipjniup: Mpinhjuwnwht thnthnpowlwubph
puqunipiniup sh Jupnn 1hubk] puunwply: Uju jupnn £
1huby Jtpgun|np fund win]bpy:
2. tipd

w. Swbjugus a; wnwpuyuljubt hwununmb ptpd k:
p. Swliljugws x; wnwpuyulut thnthnjuwljub phpd L
g. ©Ept fili dniuljghntim;  hnthnppwljun kU
ty, ty, o, ty, PEPUED B, waqu £ (8, 85, 0, £, ) phipd
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1. Uy pputip shw:

3. Smppulub pubwdlh
bpt PY wpbphlunught  (ngnhuwlut boU
ty, by, b, PERUED  BL,  wwu Pfi(ty, b, e t,) U
nwppulub pubwdl k:

4. Pmtiwdh
w. Swppwlwb pumttwdbip putwdl b
p. Gpk A-u b B-u pwtwdlbp Lb, wyuw (A4 > B)-u
pwtwdl E:
g. Gph A4 -t pwtwdl k, myu (14)-u pwtwdl E:
1. Bphk A4 -u pwtwdl kb x;-u wnwupujuljwt thnthn-
hujut E, myu (V x; A)-t pmtwdl E (wyju glypnid
A -t dwuyhsh wqntgnipyut mhpnyp k):
k. Uy pmtiwdlibip syt

NMupqupwbinid

Ukunnw- (hnitbwpku perd-) pupn puntph dwulihp swwn
puquhdwun k, dwubwynpuwbu npuybu wugnid wyp hpuyh-
Swijh, npytu thnpowlbpynid: Ukp guupbpwugnid, dnpduyg
wnbunipnitittph  thnthnpjwlwuubphg, pipdtphg, puwtwdlb-
nhg, pinpbkdutphg pugh, Ygnpéwstup twlb thnthnpuwmljuikp,
phputp, pwtwdlbtp, pinptdubp qunuthwpubpp mkunipiniihg
nnipu, npnip juwiduubkip dbnwhnthnpwlwbubp, dbnwpbp-
Ukp, dbnwpwbwdlbbp, dbnmwpbnpbdubp: 8nipwpwbsnip wb-
quud nu sobipnbknt hwdwp $nplw) nbkunipjutt hnthnpowlwb-
Ukpp Yqpklp tb pép, hul] mbkumpnuhg noipu, wyuhipl dk-
wnwthnthnpwluwbbtbpp’ ngphn:  Ftwubwpwp, nbunipjut
ptputpp, pwbtwdlbpp vnwinud ku php, hul] dbknwptpdtpp,
dbnwpwbwdlbpp' ninhn gpunpnidubp: dnpdwy nbunipjub
ptoptdutp Eu wbumput Jdby wpunwsjws pwbwdlibpp
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(ypuugny wpnwhwjnjws wunmudubpp), hull $npdwy nkunt-
pintuhg nmipu hpkt hull npnowljh hwwnlnipmitiubph dwuhtb
winmutbkpp dbnwpknpbdubp kb, ophtwl winmutkph nk-
unipjut |phympjubl, wthwwubjhnipub, pwekhnipjut b
nnlk wy] hwnlnipniuubph Jepupbpuyg:

Uoywé qunuthwpubpp juy wunlbpugubint hwdwp gh-
wnwplkup nkn nupnghg hwynh hhwnlbyuy putwdlip (x + y)? =
x% 4+ 2xy +y? Ug Uwunid wnbknunpbiny pnnp thwlwugskpp
npnpwlh buwbalng’ Gunwbbp (2 + (2(x)) +y2)): Ubp-
umsklp f7, f7, f3 pmtljghntiuy m P{ wpbnhlunuyht thnthn-
hrujuutipp htnbyuy $niughwnbph nt ypinhuwwnh hwdwp.

ffey) x+y, fFOoy) x-y f3(x) x%, PE(ty,t) ty =ty

“dqup sk hwdnqyty, np dkup nitkup htnlbjw) muppulut
putiwdlip.

P? <f31 (), (A (2 few).f <x2>)>:

Uhts hEtwunypubph vwhdwinidp ubpuniskup Uh pwutih
qunuthwpubp:

Uwhdwbnd

x; hnthnjuwjuth dnrmpp ndju A putwdlinid Ynsynid k
juyyws, tptk wjtt jud wudhpwwbu swuwihshg htwnn E jud
guiynid £ pun wyy thnthnjuwluith swyjuwihsh wqpkgnipjut
wnhpnypenid:

Uwhdwimid

Onihnfjuwljuth vnrmpp Ynsymd b wqun, tpl wjt Juy-
llulb 2}::
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Uwhdwbmd
Pohnpuufjuip Ynsymd b wquin A pwtwdlnud, bpk wjt
wyn pwbwdlinid nitth gnuk Uk wquwn dniwnp:

Uwhdwbnmd
Puttwdlip Ynsynid & thwry, Eph wyt snith ny Uh mquuun thn-
thnpuwljuit:

Uwhdwimd

t phipdt wqun F A(x) pmtwdlinid x thnihnjuwljuth thn-
hwwupbkt wbpuwppdwl hwdwp, tpt x-u A(x)-nud wmquun k, b ¢
phpup sh wuwpnibwynid wjgghuh thnthnjuwlwl, pun npp
dwuwihsh wqpbgnipjutt mhpnypnid qguninid £ x-h wqun
Uniwnpp A(x)-nid:

Ophtuly" htnlyuy

V3 (Y2, ( Pf (%1, %2) 2 1Pf (X3, %2))) D Vx5 PE (%1, X7)
puttwdlnid x1-h wnweht nt tplpnpy Uninpbpp juwydws b,
huy Eppnpyp” wquan:

X2-h wnweht nu Eplpnpn dninpbpp wquu kb, hull bp-
poprl o snppopp” fungws:

x3-h Epynt Untnpbpp juwydws Eu:

Ujuyhuny® x; ni x, hnthnjpowlubtbpp wquun ko npjus
pwttwdlnid, puth np nitkt wquun dninpbp, hull x3-p wqun
ok:

t = x; + 1 phpdp wmquun £ nbnunpdwt hwdwp dhuyh x;-h

thnpowpkl, hul £ = x; + x; ny Uh thnthnjuwlwih thnpowupk nk-
nunplut hwdwp wquwn sk:
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Utjuwpwtinmipyniu

Snipwpwitiyynip puwbwdl npnowlh hdwuwn E plhnnitnd,

tpp huynth Bu tpw ke Enus thotiph hdwuwnutpp:

Ophiurly’

w) X1 * Xz = Xz Xp,

e Lphk wyju wpnwhwjnnipjut hnthnpwjubikph wpdtp-
ubipp pybp kb, Yhnp puupydnud L npybu puquuuyun-
ynwd, = thop npwhu pdbph hwjwuwpnipnih, wuw
puttwdlip dhpwn ghown

e hphk wyju wpnwhwjnnipjul hnthnpuwljuwbikph wpdtp-
utipp dwwnphgubp &b, Yhup puupgnud £ opybu pug-
dwyuinynid, = tthop npybu dwwnphgutph hwjwuw-
npoipinil, wyw putwdlip ny Uhown E £hown:

P X <xD(xp<x3 Dx;<x3)UxX; <X (xp<x3 D

x3 < x1),

e Lphk wju wpuwhwjnnipmnii-
ubpnid thnthnjuwljwuubph wp-
dpubpp pykp kb, < thy wuk-
] hwuluimd Gup pbph
hudbdwwndwt gqnpénnnipjnt-

tup, wyw wpwehtt puwtwdlbp )\O\_,O/( X,
uhgw &how k, hul kplpnprp
ufuwy,

e hpk wju wpnwhwynmpmittbpnid hothnpupwljubttph
wpdtpbpp wghg phpywd wunnlbph opewtiugdh ypuyh
Jtwnkp &b, < thop hmuugynid E hkwnlbjwy Yepy. Eply-

nnpn YEnp qgniuymd E wnwghthg dwdwgnigh ujwph
nunnipjudp opowtiwgsh Ukl btppnpnh hbEnwynpni-

X1
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pjudp, wyw wnwehtt pwtwdlp upiwy k, hull Eplypnp-
np’ &pgwn:

Uwhdwmimu

Bupwnptup M-u hus-np pwbwdlbbph puqunipmit t: Uju
puqUnipyut hudwp dEhiupuimpmb wukng jhuuububp
hEwnlyup.

1. puinpywé £ wnwupujuljut nuownp,

2. kptk M-h pwtwdlbbipnd wnljw bt wpwpluyulju hwu-
wnwwnntutbp, wmyw whwp k uoky, ph nputighg mipupwynipp
wnwplujulwb nuonhg np dklu k,

3. kptk M -h pwbwdlbpnid wnljw L $niulghntiwy thnthn-
hujuutitp, wyw whwp k wk), ph ptnpjus wnwpuyulju
nuownh wnwppkph Yypw htiy pnrulghwkp B hwdwywnwu-
huwtinid npuiighg mupupwtiynipht,

4. ypknhjuwnwhtt thnthnpuwljubitphg nupupwgnipht
whkwp Ehudwyuunwupiwtiugub] hus-np hwpwpbpnipinii:

Uwhdwimd

Puttwdln Ynsynud . ppugnpdlyh nfjuy JEjuwpwinipjut
hwdwnp, Epk qnnipjnit nith tpuw wquun wnwpjuyulub thn-
thnpowlwuubph wpdbpubph wjtywhuh hwwpwsdni, np pw-
twdlt punniunid £ £hpwn wipdtp:

Uwhdwinid

Puwttwdln Ynsynud b anybwpwinipinil nju) dbjuwpw-
umipjut hwdwp, tplk tpw wquun wrwpjuyujut hnthnpw-
Juuubph wpdbtpubph judwywljuwt hwjwpwsdnih hwdwp pw-
twdlt punniunid £ £hown wipdtp:
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Uwhdwbnmd

Puttwdln Ynyymd bt hwhwunipinil wnjjuy dkjuwpwine-
pjult hwdwp, Epk tpw wquun wpwpuyuljut hnthnwlwb-
ubiph wpdbpubph judwywljwt hwjupwénih hwdwp putwdli
pugniunid k upuwy wpdtp:

Onhtwl’ Eupunptup M-p wupnibwynid £ dhuyg

PE(fE Cer, 7 (2, x3)), f£ (. (FE (%1, %2), f (21, %3)), 1))
puttwdlip: TYhnnwpltup nuppkp dEjuwpwinipniutbp:

Ukjuwpwiinipinii I

1. Npwhu wowpuyulul guown Ykpgukiup N-p' phwljub
pYtpt nu 0-u:

2. Uhwuly a; wpwpljuyuljut hwunwwnniithtt ykpugpkup 0
wpdtpp:

3. f2 Lff Pmiuyghniuy thnthnpwubbbphtt hwdwww-
nwufjuwbwpwp ipugpbiup x - y b x + y Epiunbnuth pyupw-
twlwb dnruljghwtpp:

4. P} ypknhjuwnwyht thnthnjuwjutht hwdwyuinwuaw-
ukgukup t; = ¢, pyuputtwjut hwpwpkpnipniiup:

Uju nhugpnid pubwdlip uinwbinid E hknlywy nbkupp

xl'(x2+x3)=x1'x2+ xl'X3+O:

Uju dbjuwpwinipymt hwdwp pwbwdbp tnybwpwbne-
pinih b

Utjuwpwtinipynit I

1. Npubu wowpluyuluwb guown Yhpghkup N-p' phwljub
pytpt nu 0-u:

2. Uhul a; wnupjujuljut hwunuwnnithtt ykpugnptup 0
wpdtpp:
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3. f£ Uf? dmiuyghntwy thnhnpuubbkphtt hwudwow-
nwuppwbgubp x+y b x-y bEplubnuih pdupuwbwulut
dnrulghwmutipp:

4. PZ yptnhjuinwht thnthnjuujuitht hwdwywinwupaw-
ukgukup t; = t; pyupuwttwju hwpwpkpnipniup:

Uyu nhwgpnid pubwdlip uinwbnud E hbnlyu) wkupp

x1+x2'x3=(x1+x2)'(x1+x3)'0:

Uju dkjtwpwinipjut hwdwp pwtwdlit hpugnpstih k:

Utjuwpwtimipynit III

1.0pyhu wpwpuyulul nuown Jhpgukp N-p phwljub
pytpp nt 0-:

2. Uhwl a; wpwupujyuljut hwunwwnnithtt Jkpugpkup 0
wndbpp:

3. f£ b fZ $miulghniiw) thnhnpwuitkphtt hudwuyw-
wnwupjuwbgubup x-y U x+y bEpjubnuuh pdupubwulut
dnruljghwbipp:

4 P wyptnhjuinught thnhnjpwuiht hwdwywinwupw-
ukgukup t; > ¢, pyupwttwljut hwpwpbkpnipniup:

Uju nhwgpnid pubwdlip unwbnid  hknlyw) wkupp

xl'(xZ+ X3) >x1' X +X1'X3+0:
Uju dkjtwpwinipjut hwdwp pwtwdlp hwljuunipnit k:
Uwhdwtnid
Putwdlp Ynsyynmud bt hwdungpinwbpnplkl dhown, tpk Jw-

dwjuluwt dEjtwpwtnipjut hwdwp wjt inybwpwinipnit b
Ophtwl 4 > A:
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Puwlwt k, np hkbwunyputpp whwp k jhukt hwdwuyh-
wnwthnpkt dhon pwtwdlikp:

Cupniuwljtup ypknhuwnwghtt hwoyh tjupugpnipniip:

II. ZEuwunypukp

Mptnphjuwnwiht hwydh guuugws A4,B,C pwbwdlibph
hwdwp htknbju nhyh pwtwdbbpp hkbwunypubp Bu.

1. Ao (B> A),
. (4>B)>((A>(B>0)>A>0),
. (1A>B) > ((1A>1B) 2 4),
VxA(x) 2 A(t) " (kpk t phpdt wquunn £ mknunpdwt hw-
dwp A-mud x-h thnpjuwupki),

5. Vx(A 2 B) o (A > VxB)" (kpk x-p A -nid mquwn sk):

A~ W N

Thunnmpniu

Nipwinpnipinit nupdukip, np wnweht tpkp ujubkdwutpny
npuwd  hbkuwunypubpp  withwjunnpbt  hwdwwyhwnwinpk
&hpwn kU, Uhsnbn snppnpn nt hhugbhpnpn ujubdwbbpnmd wnljw
ki vwhdwbwthwlnidukp, npnup pujupup Bt hwdwyunuu-
huwtt hEtwunypubph hwdwwhwnwuhnpt §hown (huknt hw-
dwp: dbphhotup twhiwpwind pipdwé Eplpnpn ophtiwlyp,
npnd pudupupqus sk snppnpn vpubkdwgh vwhdwbwhwlnudp
wnbnunpynn ptpdh JEpwpbkpu), htish ywwwndwnny wnbnu-
nnuUwt wpyniupnid uvnugus putwdih wpdtpp upauy k:

[II. Upunwusdwb jubnbukp

1. modus ponens

AADB
B

2. Gen (Generalization) punhwipugdwt Juunt

Ax)
vx A(x)
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Uju hudwlupgnid hwugniunptt vwhdwtynid Eu wip-
nwsdwl, wpunwskihnipjut, twhwunputtiphg wpnwsdw
qunuthwpubpp:

Uwhdwijws hudwljunpgp popnp wy) $npduy nkunipinii-
utph wpudwpwbwlwtu hhdpt E wwluyt jnipupwtynip
wnwbdht hwdwlwpg Jupnn £ niiktwg b hp ubthulwt ht-
twunypukpp:

Tmmyghuyh phnpldp ypknhunughts hwgyh hudwp
nptd

Bpt I'-hg b A-hg ypknhjuwnwiht hwyynid wpnwsynid
B-u, wyuhtipti’ I, A Fp B, b wynp wpunwddwt dky sh Yhpwnybky
Gen wuntp puwn A-h nplt wquin thnthnuwlubh, wuyw T-hg
wpunwsynid EA D B:

Ujuhtpt’
ILArp B
'+p ADB
Uwjwgniyg
[A bp B, myw puwnn uwhuwidwh’
IAvp By
B,
By

npnid jnupupwibisymp B; u ' hkwunype k, Ju'u T puquni eyt -
Uhg b, Ju'd A putwdlit b, ju'd vinwgymd E twpinpyitphg
m.p. ju U Gen Yubntultpny, U B, = B:
By, By, ..., By, ..., By, pmuwdlkph wnglihg wykjugutup 4 o:

A DB

A DB,
(1)
A DB,
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Uunwuguép wpnkt jupnn L wpunwénd sthuk;: Udbpug-
uktp wytyhuh pwttwdlikp, np (1)-p puntw wpunwsnd vhuyt I
bwuwnpyuttphg:

1. Bpk B;-u httwunyp E jud I' puqunmipinithg E, wmyw
(A D B;)-hg mnwy wykjugukp.

Fp B; twhuiwunpyuy k I'-hg jud hkiwunyype nu

Fp B; © (A D B;) hktwunyp 1 b junnwbwip

Fr(A D B;) m.p.

2. Gpk B; = A, myw A D B;-hg wnwy wykjugutup 4 o 4
pwtwdlh wpnwsdwb snpu pwbwdlbpp, npnup wjuwnbn bhu
wpunwéymu ki, putth np wyn wpnwsdw Uk oqunugnpéynid
Et wnweoht, tplpnpny hktwunyputph ujpbdwttpt nt m. p. ju-
untip, npnip ywpbknhjuwwnuwhtt hwdwlwpgnid bu wplju Gu:

3. Gpt B;-u unwgyh] L twphuinpnubpnhg m.p. juinuny, wy-
uhliptl’ uljqpuwjutt wpnwsdwt Uk wnju k.

FpBjj < i

Fp Bj D B;

Fp Bim.p.,
www, pun wwwgnigh 1. b 2. Yknbph, mukup 4 o B; b
A O (B; 2 B;) pmtwdlibpp: Yuinwtiwbip.

Fp (A D B;),npnud j < i puw 1,2 Yhnbkph,

Fp A D (B; 2 B;) puwn 1, 2 Ynbph b, wbjughtyny,

Fp (A D Bj) D ((A o) (Bj o) Bi)) D (A > B;)) htuwunyp 2,
nL

Fp (A > (B> Bi)) > (A > B)) m.p., junwtwlp

Fp (A D B;)) m.p.

4. Bphk B;-u unwugt) k twunpyhg Gen uintn], wjuhlipt’
ulqphwlul wpnwstwi ke wnljw k' By, k <ilWB; = VxB,
wuw pun 1, 2 b 3 Yenbkph mikip A o B, pwlwdlip: A > B; -
hg wnwy wykjugukup
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Vx(A D By) Gen
Vx(A D Bg) D (A D V xBy) ** hktimunyp 5:

Zhotgukup, np ** uwhdwbwhwlnudp yuwhwenid t, np
x-n A-nid wquun sihuh, hish yuwndweny wejw b phnpkdh
Aujipydwt vwhdwbwthwlnidp:

Ehnpbdt wywugnigyws t:

Thunnmpniu

YEgnijghwyh ptopbup wunypujhtt hwoymd jpugnighs
wpunuwsdwt Jutnt kp, hgh hhdwt Jpu ubpunisytghtt twub

odwinul] wy Ywinbubkp uhpnghquikpp, wpudwpubwlub

gnpénnnipjnibubph ubpuniddwt nt wpnwpudw jubnuubpp:
Zuoyh wnubiny, np wunypuwyhtt hwoynid npug hhdtwyn-
pnudutpnud sh Yhpwnydl) Gen Jwuntp, Jupnn Eup wunk), np
pninn uyn Juuntubkpp wpwig nplilk vwhdwbwhwldwt fhpw-
nkih i bwb wpbnhfuwwnwhtt hwoynud, hbnbwpwp wuny-
pught hwoynud tnybwpwinipnit hwinhuwgnn pwtwdlk-
nnud npudwputtwjut hnthnpowlwbubpp muppujut pw-
twdlkpny thnjewphtkyny (bnyubpp tnyubpny, nwppbplbpp
wnwppbputpny) Junwbwiup wpiphuunwhtt hwoyh pwbw-
Alubkp, npnup wluhwynnpbt Jupunwdybkt wpinphfuwnwght
hwoynid:

Owywhsttph ubpunibdwl n1 wpunwpudwb fuinbukp

Uju hwdwljupgnid wnljw k V- punhwipnipjut swduihsp,
3- qnynipjut Swywhsp tkpunistup hknbyjuy ptwjut tputw-
Uny 3 x A(x) = WVxTA(x):

Owyuhs Ukpuniénid Upunwpunid
A(x) 1 VxA(x)
*k
v VxA(x) T A(D)
ITpaBumo Gen
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A(t) 3 AxA(x)
IxA() A

Zhdtwynpkup 1-3 Juunuubpp® hwoyh wnubny npugnid
Jws uvwhdwbwhwlnudubpp:
1. VxA(x) Fp A(Y)

Fp VXA(x) twhowunpuy
Fp VxA(x) D A(t) »  hkuwunyp 4
Fp A(t) m.p.

2. A(t) Fp TVx1A(X)
Fhundwl tkpdnisdwb jubnth hudwdw
A(t), Vx1A(x) Fp VXT1A(x)  bwpawnpyuyg

Fp TA(t) * V wpunwpunid
Fp A(t) twfuwnpyuy
A(t) Fp TVXTA(x ) 1 ubpunidnid

3. TVxTA(x) Fp A(x)
TVxT1A(x), 1A(x) Fp TA(x) twhiwunpuy
Fp VXTA(x) Gen punn A-h mquuun thnthnpuwjutih
Fp TVXTA(x ) bwhuwnpyuy
IVxTA(x) Fp A(x) T wpunwpuntd
hush hwdwp Yhpwnynid kb nbnnighwh phnpbdp wpunwsdws
Epynt hwlwnhp pwbwdbbph tjundwdp b Eppnpn hEtwuny-
PR npuithg b wnwowunid £ ** vwhdwbwthwlynudp:
Upunwddwb odwinuly Choice fuint (C-jwimi)
Uwpbdunhljujut wywugnygubipnid hwdwh Jhpunynud
kb hbnljw) whuh nunnynipmnitkp: Gipunpbip wuwgnig-
Jb £ 3x A(x) wbuph wunnudp, b nhgnip b-u wyuuyhuh dh
opjtjnr k, nph hwdwp wtnh niuh A(b): Cwpnitwlbnyg htwnw-
qu nuwunnmpjniubbpnid A(b)-h oquwgnpénidp, wjuhtpt’
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Juwnwptiny plunpnipynit (Choice) quijhu kip Uh Jhpolulul
wundwp, npb wyn judwywluinpkt pnpdws b-u sh yupnt-
twlnud, htmbwpwp npuihg jupdus sk: Upnwsnidubpnid
Ix A(x) pwtwdlhg wugnudp A(b)-ht Ynyymd b C-lubint:
Ydup sk wmyuwgnigh), np C-juunth Jhpwndwdp wpnwusnid-
Ukph Jpw nukpm] npnowlh phwlwi vwhdwiwhwlynudibp
Jupbih £ wytt yEpwst] unyt btgputhwlyhy pwbwdlbh wpnws-
dwtp wpwig C-Jutintth Yhpundwb (nk u [1]):

Onhuwljutpny gnigunpbup npnpwlh pwtwdlih C-fuunth
Jhpwpdwdp nt tnyt pwtwdbh wpwbg C-Juinth Yhpundwdp
wpunwsnidubpp:

Bupwnnpkup whwup E wmuywgnighy, np.

3x(B(x) o C(x)), VxB(x) F3xC(x):

C-Yuinth Yhpundudp

1. Ix(B(x) o C(x)) bwpuwnpyuy

2. B(b) o C(b) C-Julnt

3. VxB(x) twpawnpyuy
4. B(b)V wnpunwpuniy *
5. C(b) m.p.

AxC(x) 3 ubpunidnud *

“Thunwplkup wnwig C-fuunth jhpwrdwb wpnwsdnidp:
Upwnwshynt hudwp 3xC(x), wyuhipl' VA1C (%), puduljub
E wnwtg dundwt yipgut) npuybu twhiwnpu) b quy hwljw-

unipjui:
1.VxB(x) bwuwnpyuy
2.Vx1C(x) bwuwnpyuy
3.B(x)V* wnpunwpunid
4.1C(x) V"™ wpwnwpunid

6.¥x1(B(x) > C(x)) V tipinidnuy, wyuughuny
7.¥xB(x),Vx1C(x) F¥x1(B(x) o C(x))
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8.VxB(x) FVx1C(x) 2 Vx1(B(x) o C(x)) nhnynijghuyh phn-
pkd

9.VxB(x) F1vx1 (B(x) oC (x)) D vx1C (x)) wpunwsk] hw-
dwy hinnwihnpkt &hpwn (CoB)>(1BD1C) hpwowh puwbtwdlp b
Jhpwunt] m.p.

10.vxB(x) FAx(B(x) 2 C(x)) 2 IxC(x) tnyt pwlbwdlh
Jpdwn gpupnidp

11..3x(B(x) ) C(x)),VxB(x) I—Elx(B(x) ) C(x)) twhrwnpyuy

12.3x(B(x) o C(x)), VxB(x) F3xC (x) m.p.

Uoywd ophttwljutinh nhnwpudwdp hwidngynid Lup, np C-
Jwunth Jhpwnnidp, htywhu nipwpwsnip odwinuly juunuh
Yhpwoenid, Ypdwnnid £ wpunnwsdwt puy ph pwbwlp:

Lwhiwdwyuysughlt mkup

Uwhdwimd

Swippbp x; b x; thnihnpuwljutitbph hwdwp A(x;) nu A(x;)
pwbwdlbtpp Ynsynd &b Awégnibwl, tpt A(x;)-u niuh x; thn-
thnjpowlwih wquun dntnpbpp dhpn wyu mbnbkpnud, npunkn
A(x;)-t nmuh x; hnthnpowljutth wqun dninpbpp:

Nunnud (Yuupws hnhnjwljuith Jkpubjuwiniub juint -
Yt
Gpt A(x;)) b A(x;)) pwbwdbbkpp hwbgnitul &b, U
Fp VX; A(xi), wyw Fp VX] A(.X'])

Uujugnig

Fp VX A(X;)

Fp VX A(x;) D A(x;) hktwunyp 4 (* vwhdwbwthwlnudp
wnknh niuh)

Fp A(x]-) m.p.

Fp ijA(xj) Gen.
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Uwhdwbmd

Yuuklp, np 4 pwtwdbt nuh wprmdwjuysughl junenig-
ywdp, tpt wyt hkwnlbyju nbtuph £ Rx; Rx;, - Rx;, B, npmud
Re{v,3}, k 20, x;,,x;,,, X, hpwphg nnwppkp thmhnfuwlub-
ubp LU, b B pwtiwdlp Swdwhs sh wupniawlnud:

Nunnud
Tudwjyujut A pumtwdlh hwdwp gnnipinit nith wytuyh-
uh A" twpuwswywsuwyhtt junnigwsph putiwdl, np -p A = A”
U wyunnudtt wmywugnigbint hwdwp paduljut L gnyg
wnw], np wypknhjuwnwht hwoynd wpnwsynd G hknlbyuyg
putwdlikpp, npniignid y-i mquun sk n'’s A(x)-nud, n's B-nud.
1. VxA(x) o B =3y(A(y) D B),
B o VxA(x) = Vy(B ) A(y)),
dxA(x) o B =Vy(A(y) D B),
B o 3xA(x) = 3y(B 2 A(¥)),
TVxA(x) = IxTA(x),
. 13xA(x) = Vx1A(x):
Lwitth np 4 = B jpdun wpwtwlnid £ (4> B)&(B D A) pu-
twdlip, hwoyh wotking &h Ukpumisdwi Juintp 1-ht pw-
twdlh hudwp, ophtiwly, wpunwskp.

(VxA(x) o B) o 3y(A(y) o B)
1 hwph wnklp 3 Swfwhsp tbphuyughng puludlp
VxA(x) D B +p TVY1(A(y) D B):

Jhuniwt thpumsdwt Juwinth hudwduy pujwulub b
VxA(x) D B,Vy1(A(y) 2 B) twhwugpujutphg wpunwst) dkyp
Uniuh dunnidp hwunhuwgnn putwdbbp:

VxA(x) D B,Vy1(A(y) 2 B) +p Vy1(A(y) 2 B) twmpuwnpju

VxA(x) D B,Vy1(A(y) 2 B) +p 1(A(¥) 2 B) V-h wpunnwpunid

oUW N
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wpunwskup hwdwwhwnwthnpbt  ghonn pwbwdl
1(A o B) D A&B
VxA(x) D B,VYy1(A(y) 2 B) +p 1(A(y) 2 B) D A(y¥)& 1B
VxA(x) 2 B,Vy1(A(y) 2 B) +p A(y)&1B m.p.
VxA(x) o B, Vy1(A(y) 2 B) +p 1B & wpunnupunid
VxA(x) 2 B,Vy1(A(y) © B) tp A(y) & mpunnupunid
VxA(x) 2 B,Vy1(A(y) 2 B) Fp VYA(y) Gen

VxA(x) D2 B,Vy1(A(y) 2 B) Fp VxA(x) hthy

VxA(x) D B,Vy1(A(y) © B) kp VxA(x) D B twjuwnpuy

VxA(x) D B,Vy1(A(y) D B) -p Bm.p.

Unwowpnlynud E dbwgus pmtwdlibpp wpunwst] hupunt-
pnyl jnipupwisiniph hwdwp wpnwsdwl phpugpnid piwn-
phEnd hwdwwywwnwupiwt npnpwlh hwdwuyhwnwihnpb £hown
putwdlip:

b pnudi 1-6 pulwdlibph’ tokbp twl hwdwuywinwujuwb
puttwdlitpp &-h b vV-h hwdwp, npnughg pipwpwisnipnid y
thnihnjuwlwip wquw skn's A(x)-nud, n'y B-nud.

1. VxA(x) & B = Vy(A(y)&B),

2. VxA(x)VB = Vy(A(y) VB),

3. 3xA(x) & B = 3y(A(y) & B),

4. 3xA(x) VB =3y(A(y) V B):

Zudwmlupgh hhdbwljwh hwnljmpmibukpp

Etnptd
NMpinhjunwghtt hwohdu wthwlwubyh t:

Uwmgniyg
Judwyuljut A pwtwdlh hwdwp vwhdwukup A(4) yun-
tp hbnljw) tnutwlny.
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w) pwbwdlnid gugymid ku pninp dwjuyhsutptt hpkug Yhg
thnthnjuwljutittipny n1 thwljugsdtpny,

p) putwdlnid otigynid L pninp phpdtpt hpkg htwn qni-
quljgynn unnpuljintipny nt thuljugstpny,

q) gugymud &u wptnhjuwnwghlt thnthnjuwljwbttph Epht
hugkputtpp, b Ukdwwnwn P-tpp nuptnud ko thnppuwwnwn p
unyt uinnnpht hunkpuny:

Ophtuay’ A (i, P (xz, a3, %) 2 PH(x2)) = (Ipy 2 py):

Uluhwyinnpki A(4)-t wunypwjhtt hwoyh putwdl k.
1. h(14) = Th(4),

2. h(A 2 B) = h(A) o h(B),

3. h(vxA4) = h(A):

NMptnhuwnwihtt hwpyh 1-5 hktwunypubph A-yguwnlkptt-
np unytwpwtmpnmitubp Bu (wunypuwjhtt hwoyh hdwuwnny):
Bpk h(A)-u U h(A D B)-u unytwpwbnipjniubtp kb, wwyuw
h(B)-u lu tnytwpwinipnit k: Gpk A(4)-t tinytwpwtnipnit
E, wmyuw tnytwpwinipinit L twb A(VxA) -t: Zkwnbwpwp, Epk A
putwdllt wpunwsynd E wypbnphjuwnwht hwoymd, wwyw
h(A)-u tinyuwpwunipni E wunypuyghtt hwoynid: ZEnbwpunp,
Ept nplbk B pwtwdlh hwdwp wpunwdytht B nt 1B, mwyw
Junwgytp, np A(B)-u n1 A(1B)-u tinyuwpwlnipjniutp Ly, h-
s hwupurdnp sk:

Fnpbdt wyugnigus k:

Oquwugnpstiny nipwpwisnip pwbwdlh hwdwpdtp tw-
hwswqusuyhtt nbkuph phpknt hwbqudwtpp, swywihsutph
wpunupudwt Juinuubpp, husyku twb dEjuwpwunipniuttph
Uh owpp htwwppphp hwnlimpmbubpp wywugnigymd L

ukppnhhojw) wunnidubpn:
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Qynnbih pinptdp wpknhunwght hwpdh iphympyub dw-
uht

Mptnhjuwnwhtt hwynid wpnwdynid B wyt b dhwytt wyh
pwtwdlbbpp, npntp hwdwwyhwnwbhnpbt dhpnn B (wnwbg
wwwgnijgh):

Zujnuh ki wyu ptnplidh puquuphy mwuppbp wyugnyg-
ubkip (Jwubtwynpuybu [1], ke 89), npnugnid tpdws G bwb wy
wwwgnygubph hnnudukpn:

nptd

Mnptnhjuwwnwhtt hwohyp nwskph sk (wnwiig wuywgnyygh):

56



QLNR 3. SNCUUL EJULULNARGSNPL

Zhduwywt qunuthwupbp
I. LThgm

1.

Ujpnipkt

w.D 1V,()

p. a; Uhulj wpwpjuyulul hwunwnmb' 0:

g. x; wnwplujulwt hnthnjpwljutikp

. f 2. 1 £ $mitighnin dinthnhuwlubitkp, npniig
hudwywunwupwinud &u x + 1 (fpdun’ x'), x+y
X -y dnruljghwikipp:

L. P2 dhwly wpbtnhfuwnught thnthnfjowlwb, nphi
huwdwwywwnwupiwbtnid £t = r hwpwpbpnipniup:

2. hipd

Zuugniinpkl, hywhu wpbghjuwnuwht hwoynid:
Uhwyb dwubwygnid Bu aq, x;, f1 f2, f7 -

3. Swppulul pwbwdl

Zuugniuinpkl, husywbu wpinhuunughtt  hwoynud
Uhuyt PE-h dwutwlgnipyuadp:

4, Puimdl

Zwuugniuinpkl, hiywbu ypbnhjuwnwghtt hwoynud:

II. Zkbwunypubp
dnpdwy puwpwinipyut pumtwdbbpny tkpljuwyjugynn wynpk-
nhlutnughtt hwoyh wpudwpwiwlwi hkbwunypibpht’

1.

Uik W N

AD(B>A),
(A:)B):)((A:J(B:JC))D(A:JC)),
(1A>B) > ((1A>1B) o 4),

VxA(x) D A(t) ',

Vx(A > B) o (A > VxB)",
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wybjugynid u htnbjw) ubthwlwb hEbwunypubpp
(u.h.).

1.

X1 =Xz O (X1 = X3 D X3 = X3)

2. X1 =X, DX; =X5

I1I.

© PN oUW

X1 = X5 DXy =Xy

. 0 # x{ $npuw) gqpunnidp’ 1PE(ay, fi (1))

x1+0=x

X1+ x5 = (%1 +x3)
x1°0=0
X1°X5 = X1 X + X

. Uwljwésdwt hEtwunyp (ujubdw)

A(0) D (Vx(A(x) 2 A(x") D VxA(x))

Upunwéddwb jubnubbtp

A,ASB
1. modus ponens 5

2.Gen punhwbpugdwh Juink

Ax) |
VxA(x)

NMwpqupwbmd

e 1-8 ubkthwjwt hktwunyputpp ujubdwikp sku, wy pw-
twdlbp kb, b ngpubp tnybybu hEpwnnipjudp hhoynmid Eu hpku-
gny ubkpyujugynn hdwuwnny.

I-p hwjwuwpdwb mpuwuqhnhynipjut Uh muppbpuyp,

2, 3-p, np kpynt phwut pyYtph hwjwuwpmpniithg htn-
lunud E gputg hwenpnutph hwjwuwpnipniup b hwjunwyp,

4-p ugnud &, np qpnt ny uh pifh hwgnpyp sk,

5, 6-p wupqugniu Jupgpipwug Enubwlyny vwhdwind
Et gnudwpdwt gnpénnnipjniup,

7, 8-n qupqugniju Jupgplpwg Enwbwlny vwhdwbnid

ki puqUuuyunldwt gnpénnnipjniup,
9. tjupugpnid £ wywugnigdwt dwjwsdwb tnubwlp:
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e Ubkthwlwt hktwunyputph gqpuenudubpp wuydwbw-
Ju gpuemdtp B

Nupwnpnipinit qupdubkup hkwnbyjuwht.

dnpdw) gpunnid NMupdwiwut | Ukjuwpwinipinit
qpunniu
fit Ge) X1 X +1
f£(x1,%x2) X1+ X X1 + X
£ (x1,x2) X1 X2 X1 ' X
P (x1,%2) X1 = X2 X1 =X

Utthwlwl hktwunyp 6-h wuylwiwwub gpuenodi £

X1+ x5 = (X1 +x3), huy $npduy qpunnudp
P22 (0, £ () ), S (FF (e, 22))):

FPuwljut E, np tdwt gqpunnidubpn Yihukht ndqupptyu th:

Uwhdwimd

1-8 ubthwlut hbktwunypubph phpdwhtt ywwnljtpukpp
(p-.) unugymu ku' npuigmud x;, x5, %3 thnthnjuwlubbkph
thnpowpbt mEnunpbny phpdbp:

Nunnid

1.-8. ubkthwljut httwunypubph phpdwihtt uwnlkputpt
wpnwsynd ki $npu) plupuinmipimind’ S hwdwlupgnud:

Uwmgng

Snigunpktp wywgnygp, ophtiwy, u.h. 3.-h hwdwp:

Fg X1 = X5 DXy =Xy u.h. 3

Fo VX (x] = X5 D X1 = Xy) Gen

Fst'=x3; Dt=x, V-hwpuwpund
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Fo Vx,(t' =x; Dt =x,) Gen
Fst' =r'Dt=r V-h wpunwpunid

Upunuddwib jpugnighs uuntubp
1. -h ubkpunidnid

t=r

tl — ,r.l
t=rkst =ro>t =r'uh2 pu.
Fst=T twpuwunnyuy
Fot' =71 m.p.

2. -h mpumpuntd
t' =1
t=r

t'=r't+st'=r'ot=r uwh3puy.
Fst' =1 twhiwnpyuy
Fst=7 m.p.

3. Zujuuwpdwb nknuthnubhmpnt (Ynuniinwnhyne-
pynLl)
t=r

r=t
Lwhu wpunwskup ¢ = ¢ pwbwdlip:
Fst+0=t>D (t+0=¢t D t=1t) uwhlpy

Fst+0=t u.h.5.p.u.
Fst+0=tDt=t m.p.
Fot=t m.p.

lLt=rtst=ro(t=t>r=t) uhlpuy.
2 bst=r twpuwnpyuy
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. kst=tDor=t m.p.2,1
4. +st=t wpunwsyuws putiwdle
5.FsT =t m.p. 4,3

4. Spuwuqhnhynpjub nmwppkpwljutp (hulnipmniip wyw-
gnigh] hupunipnijh)

t=rr=st=rt=st=rs=rt=rs=t

t=s r=s t=s r=s

5.0wujusdwi odwinul uint

Fs A(0) WA(X) Fg A(xX")
%
Fo V x A(x), myw twle ¢ A(t)

1. +5 A(0) twhwyuydw

2. A(x) Fs A(XD twuwyuydwt

3. ks A(x) D A(xX) ntn.p.

4. +, A0) D (Vx (A(x) D A(x")) D Vx A(x)) u.h.9.
5. k, Vx (A(x) D A(x")) D Vx A(x)) m.p. 1,4
6. F, Vx (A(x) 2 A(x")) Gen 3

7. kg VxA(x) m.p.5,6

8. F A(t) V -h wpuwpunid

Unwowpljynid kS hwdwlwupgnid hupunipnyt wpunwsh)
htwnljuw) mwutthhtg pwtwdlbpp, npnugnid ¢, 7 b sp judwjw-
Jwt phpdbkp Gu.

l.t=r>t+s=r+s,

2. t=0+t¢,

3.t +r=(+1r),

4. t+r=r+t,

5. t=r>s+t=s+r,

6. t+r)+s=t+(r+5s),
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7.t-(r+s)=t-r+t-s,
8. r+s)-t=r-t+s-t,
9. t+s=r+sot=r,
10.t=r>ot-s=r-s,
11.0=0-¢,

12t -r=t-r+r,
13.t-r=r-t,
l4t=r>s-t=s-1,
15.(t-r)-s=t-(r-s):

n
Nuydwbwnpyklp towbwlly 2= (... ((0)")"...)"
Unwowplynud £ S hwdwlupgnid hupunipny wpunwsh)
htEwnljw) hip pwtwdbibpn.

Lt+1=1t,

2t-1=t, 2.t-2=t+t,

3 t+s=00t=0&s =0,

42 t#0D(s-t=0>5=0),

5 t+s=12(t=0&s=1Vt=1&s =0),
6.t-s=12t=1&s =1,

7. t#0>23x(t=x"),

8 s#0D(t-s=r-sdDt=r),

9 t#0>(t+1>3x(t= ("))

Nputu ophtwlubp nphnwplyup tyywsd pwbtwdlitnhg vh putih-
uh wpunwsdnidubpp.

l.t=rot+s=r+s

Upnnwédwt hwdwp Yhhpwekup duusdwut tnubwlp:
Lwih np dwjwdnidu pun phpdh whwpynitwdbtn b, ghunwp-
Jkbp togws putwdlh twhwuyunlbpp hnhnrwlwibbpn]

X1 = 2,0 (%1 + %3 = 2, + 23)  Wwlbwlkm] wyb ACrs)
npungstint hwdwp, np dwwsnudp juunwpybne £ pun x3 thn-
thnpowljwih:
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Zhotgukup dwjwsdwt odwinuly juntp.

ks A(0), A(x) Fs A(X') |
Fs Vx A(x) '

w) Snyg nwp, np Fg A(0), wyuhupl’
|_Sx1 :xz D(x1+0:x2+0)
x1=x2 I_Sx1+0=x2+0
|_S x1 + 0 = x1 uh5
Fs 22 + 0 =x; u.h.5 p.u.
Fs %1 = %, twuwnpuy
Fs 21 + 0 = x, = mpuilgq.
Fs 21 + 0 = x, + 0 =lnpwlq.
b ninnighwyh pnpbd
Fexy=2,2(x1+0=2x,+0)
P A(x3) = A((x3)")

X1 =2, D2 +X3 =%+ %3 Fgx; =%, Dx;+ (x3)
=2, + (x3)’
X1 =2, DX+ X3 =%y + %3, 21 =%y b5 21+ (x3)
=2, + (x3)’
A(x3), 21 = %5 kg 21+ (x3) = (1 + 23) wh.6 p.w.
Fs %2 + (x3) = (22 + x3) w.h.6 p.uw.
Fs X1 = X5 D 21 + X3 = %, + x3 twuwnpuy
ks %1 = %, bwuwnpyuy
Fs %y + 23 = x, + 23 m.p.
Fs (21 + 23)" = (x5 + 23)" "-h ubpUnidnud
Fs 21 + (x3) = (22 + 23)" = wnpulq.
ks 21 + (x3)" = x5 + (x3)" = nnpulq.
ks A(x3) 2 A((x3)") nhgmyghw
Fs Va3A(x3) dumjusdwl oduinul] juint
k¢ Vx3A(x3)DA(s) V — h wpu. *
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Fs X1 =% D %1 +5 =2, +5 A(s) m. p.

Uyw Epint wbqud Jhpwunting Gen. juunup pun x; b
punn xythnthnjuwljububph b Epynt whqud wpunwpubny puyg-
hwupnipjut mem]_’[lzhhp]}\ nbknuppnud tip hwdwwywwnwu-
huwmttwpwp ¢ b 7: ‘Uokup, np * vwhdwtwthwlnudp wnbnh niuh,
pwith np A(x3) pwtwdlbip ng Uh dwduwihy sh wupnibwlnid:

Guwnplunp phunmmpni: 9bpp pipduwé wpnwsnidutph dh
dwup nith &owngpdwi Juphp, puth np bold tpdwsé putiwdliti-
np phpduwyhtt wwwnlkpubp b, npntig wpunwsnidubph hwdwnp
puquhgu Yhpunynid £ Gen Gunbp pun 4, 2, ud x5 thnthn-
howlwutbkph, htnbwpup wjbu wipnyuwnpbih E phgnly-
ghwjh Yhpwenudp wyy thnhnjpufuttpp wwpnibwlng pu-
twdlbtph tyundwdp: Uju hpugh&wlp onljtnt hwdwp pudw-
Jut k todws pmuwdlh btwpwwunlpnud tob), ophtiwly, x4,
x5 L xg hnihnpuwjutiikpp, vwljuyt gpuenidutpp hpunwugub-
10t hwdwp htnwgund bu Ynhnwplbip twpwyunlbpuk-
nnud 2 2, U xz thnthnpuwljuititinp:

2 t+s=0D02t=0&s=0
21 +%2, =02 (1 =0&x, =0) A(x3)
2,+0=0>2(x; =0&0=0)A4(0)

w)hF,x;,+0=0>(x; =0&0=0)

2, 40=0 o2, =0&0=0

21+0=0 Fg 0=0uwpunwdjws putiwdlh
ks 21 + 0 = 0 hwuwnpyuy
Fs2,+0=2x,uhb
Fs 21=0 = nnpwitq.
ks 21=0 & 0=0 &-h utipuniénid
Fs21+0=0> (x; = 0&0 = 0) ntipnily-
ghuyh phnptd
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P Alxz) Fs A((x2))
21+2,=0D(x; =0&x,=0) kg 21+ (x) =0D (x

= 0&(x;) = 0)
21+2, =02 (% =0&x, =0), 21 + (x,) =0 kg x4
= 0& (x;)' =0

Ljwwkup, np bold tipqwd wpunwdybihpp «ujuw) wunnid»
E, hbwmbwpwp Yhnpdktup twhwunpuutphg qu hwlwunt-
pjwl, hshg b upnnubwtp wpnwst) wyn putwdbp:

A(xz), 21 + (2) = 0 by 21 + (x2)" = 0 hwpuwnpyuy
Fs 21 + (23) = (1 + 2,) wh..6
Fs (21 + 25)'=0 m.p.
Fs0=(x; + x,)" = Ynunuun.
Fs = (0=(x; + x3)") uh4 p. w.

Upunwoéytg hwlwunipinit, htnbwpwp oquugnpsbking
wjuntn bu wpnwsdny U> (U S R) pubwdlp Yywpnnw-
twlp wpunwsh] guuljugws B, husp Ukp nhuypnid bold pu-
twdlit E:

Quplnp E tjunb], np A(x;) twjuunpup sogunugnpéytg
A(x3)'-h wpunwsdwt hwdwp, husp hwunnud k, np dujusdwh
Enwbwlny wywgnygubpmd n-h hwdwp wagdwb huljnipmnt-
up Jupnn b soquuugnpsyl] wyn unyt wundwt hulnipmniup
n + 1-h hwdwp mwywgnighihu:

3.t+s=12(t=0&s=1Vt=1&s=0)

X1+ 2, =10 (2, =0&x, =1V 2, =1 &z, = 0) A(x,)

w) Fox,+0=12(x; =0&0 =1V x; =1&0 = 0) A(0)

Fox,+0=1+, (2, =0&0 =1V z, =1&0 = 0) 4(0)

Puttwdlitph nhgqniujghwtt wpunwstint hwdwp puduljut
E wpunwsk] npuughg nptk JkYyp, puyg bold toqudp «upuway
wnnid» k, hbnbwpwp, whnp |
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2,+0=1 kg2, = 1& 0=0

2, +0=1 kg2, + 0 =1 twhwnpyuy
Fsx;+0=2x; uhb5
kg 2;=1 = npuiq.
ks 0=0 putidle
ks 21=1 & 0=0 &-h kpu.
ks 21=0 & 0=1V x,=1& 0=0 V-h tkpu.
ks A(0) nnmyghw

P) A(x2) Fs A ((%2)")
A(xz) Fs 21+(25)' =1 D2y = 0& (3)'=1 V,=1& ()" = 0)
Ax2), 21+ (%2)'= T ks (21 = 0& (%)= 1V 21=1&(x;)" = 0)
Ujuntn bu bold tpdwdp «upuw wunnid» k, hknmbwpwp
whkwp k ‘
A(x2), 21+(22)'= 1 g 21 + (22)'= 1 twhuunpyuy
Fo x1+(x3) = (21+25) u.h.6
Fs (#1425)'=1 = wpuwlq.:
Upklip, np 1 = (0)’
Fs 21+2,=0 "-h wpuwpunid
Fs 21+22=0D 21=0 & x,=0 wpunwdjws pwtwdl
Fs 21=0 & x,=0 m.p.
Fs 21=0 &-h wpunwpunid
ks 22=0 &-h wpunupunid
Fs (x2)'=(0)'="-h ukpunidnid
ks 2,=0 & ()’=1 &-h Ukpul.
Fo 21 = 0& ()" = 1 V ;=0 & (x,)'=1 V-h ubpu.

U pun nhingnighwyh phnpbudh’

I_S x1+(x2),: I Dxl = 0& (xz), = I V x1:O & (xz),:I:
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Ujuntn bu hwply k k), np A(x;) twpuowugpjup soguw-
qnpdytg 4 ((x,)") pwtwdlh wpnnwsdwt hudwp:

4, 1(t=0)>3x(t =x)x

T (201=0)2325 (1=(x2) ) A (1)
w) ;1 (0=0)23x,(0=(x)")A(0)
T0=0)Fs32,(0=(x))

Uokup, np wjunkn twpunpunid «<hhdwpnipjni» E, h-
shg Jupth £ wpunwst) wdku his, hpop.

1(0=0) kg 0 =0 wpunwdjwsd putiwdly,

1(0=0) kg 1(0 = 0) bwprwnpyuy:

Unwugulp hwljuwunipni, htnbwpwup ogquugnpsbting
wjunbkn bu wpunwdynny U D (U D R) Puﬂlm&h]}‘ Jjwpnnw-
twbp wpunwst] guujugws B, hiyh wyu nhypnid I x,(0 =
(22) ) pwtwdlit

P) A (%1) Fs A((%1)")

1(xy = 0) 2 3z (g = (22)") ks T(#1)" = 0) 2 Iz, ((x1) =
(%2)")

A(21),1((%1)" = 0) kg 3z, ((x1)" = (x2)")

A (), 1((x1) = 0) ks (1) = (x1)" wprnwdud pubiwdl,

A (1), 1((%1)" = 0) ;5 x5 ((x1)" = (x2)")* 3 -h ubipUnidnud:

dtphhobtp 3 dwjwihsh ubpuniddwb fuunup. A (t)-hg
wpunwsynid £ 3x A(x), tphk t phpdp wquun £ mbknunpdut
hwdwp x-h thnpuwpbku A(x )-nud: ‘Uoklp, np x4 plipdp wmquun k
ntnunpuut hwdwp x,-h hnjuwptt (%) = (x,)"-nud: ‘Uoklp,
np bwhwungpuikphg ny UkYp soqunugnpdytg: Guplnp k twub
ok, np * vwhdwbwhwlnidp wthpwdbown t, puth np htwnw-
quyniud ¢t phpdp x4-h hnjuwpbt mbnunptjhu ywhwp t hwodh
wnuk], np wjt whwnp E wquun (huh nbnunpdwt hwdwp, dwu-
twynpuytiu sh Yupbh wknunnty, ophtiwy, ((x,)")" phpudp:
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Utunwuptnpbd

Zhotgukup, np dkwnnw dwuthlp tywhwlnmd k wnbunipmt-
tuhg nnipu mbunipjut dwupb:

Enptd

Swlljugwé m ni n phwjut pybtph hwdwp.

1. kpk m # n, wyw +,; m#n,

2 FymMA=m-7

Fem+n=m+n:

Uwwgnyg 1

m=#n = m>njudm < n: Guipuypkip m < n:
Mbtwp £ wpunwshk] 1(m = n)::

m

m=nk; (..(((0))...) = (..((0))"...) twpiwunpyuy
n-1

m-—1

Fs C..((0))..) =(..((0))...)" '-h wpnwpuntd

n-m
Fs 0=(...((0)")"...)" -h mprwupunid
n-m-1
Fs 0% (C..((0))-..) Y whd.p..
ks 1M = n) T-dwb ukpunisnid

Uuwgnig 2

Uypugnightip dwljusdwb kqubwlyn] pun m-h.
w) m = 0: Nkwp E wmywgnigkup, np.

Fo 0+n =0+

Fe =047

Fox;+0=x; u.h.5.

Fsxg+0=0+x putidle

Fsxy =0+x;=-h wnpwughwnhynipini

Fs Vxi(xq =0+ xq) Gen

Fsn=0+nV-h wpunupuntd
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p) Cupunphkup®

Fs m+n=m+n, uyugnigkup, np.
Fem+1+n=m+ 1+ 7 jud wy gpunnidng
Fs(Mm+n) =m +7

Fs m+n=m+ 7 dujusdwul Lipwunpnipmnih
Fs (m+n) = (m+n)""-h ubpdnidnud

ke (M +n) = (M + 1)’ Jud wy) gpunndny’

Fs (M) + 71 = (m+n) putwdl

ks (m+n) = (M) + 7 = npulgq.

Oquitin] wuyugnigfushg hpunipniy wuwgnigky, np
b A = M T

hnpbdt wuywugnigus k:

Zupyh wnubiny " =" hwpwpkpmpjut ndntinnwnhyne-
pintup, npubtu dknwpbnpbdh wunmud Jhwdwpktp twl, np
FeM+A=mFnlubm-n=mn

Bpynt ophtwjutpny gnigunptup dbwnwpbtnpbdh oguaw-
Jupnipjniup.

L(t+2)+5=¢t+7

Fs (t+2)+5 =t+(2+5) pubwmal

Fe2+5=2+5Qui2+5 =7 dbnupknptd

Fs2+5=72t+(2+5)=t+7 putwdl

Fst+(2+5)=t+7m.p.

Fs (t+2)+5=t+7 =wnpuiq

2. 2(t+3)=2t+6

s E(t +3) =2t + 2 3 pubwdl
2-3Jud2-3=6 dknwphnpkd
=6 D 2t+2-3 =2t + 6 pubwal
t+2-3=2t+6m.p.
(t+3) =2t + 6 = npulq.

l\)l l\)l l\)l l\.)
+ wl wi

-
-
-
-
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‘Unp hwpwpkpmpimubtph ubpunidnud

Nuydwbwynpytup towbtwl k.

t< s: Ax(x # 0&t+x =5),

t<s:t=sVt<s,

t>s: s<t,

t=s: s<t

Unwownlynud k S hwdwlupgnid htupunipnyt wpunwst)

htwnlju) mwup putwdlikpn.

1. 1(t < t),

t<s D (s<r ot<r),

t<sOt+r<s+r,

t<t,

0<t,

0<t,

t<r ot <,

t<r ot<r,

t<t,

10t=rvit<rvt>r

Uwhdwlkip t/s. £ puduinid Es-h': 3x(t = s - x):
Unwowplynid £ S hwdwljupgnid huptnipnyt wpunwdh)

e A

htwnlju) jnp pnptdutpnp.

pp-

1.t/t,

2.t/1,

3.0/t,

4.t/s&s/r Dt/r,

5.t/s&s/t Ot =s,

6.t/s o (r-t)/s,

7.t/s&r/s D(t+71)/s:

Nputu ophtiwjubp wpunwstup hknlbjw tplnt putwdlk-
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1. t<t
Fg Ix(x # 0&t +x =t)

Fot+1=t puttwdl
s 1#0 putidl
Fs 1#0&t+1=1t & tbpunidnid

FsIx(x #0&t +x =t) 3 ubpunidnud
2. t/s&s/r kg t/r

t/s&s/r b5 t/s&s/r twpawnpyuy
Fo Ixy(t =sx1) & wpunwpuntd
Fo Axy(s =1xy) & wpunwpuntd
Fot =sa; Choice
FoSs=ray Choice

Fs s =ra; Dsa; = (ray)a; pwtwdl

s sa; = (ray)ay m.p.

s (ray)a, = r(aza;) puttwdl
Fesa; =r(azay) = wnpug.

Fot =1r(azaq) = wnpulbq.

Fs 3x3(t = 1rx3) 3 ubkpunidnid

Lwiinpnh m Jumgnpph vhwljmpju pubwdup
Lowtujip

J1xAKX) " AxA(x)&VxVY(A(x)&A(Y) D x = y):

S hwdwlupgnid wpwnwskup puwtinpnh nt dbwgnpnh dhw-
nipjul pmtwdlip.

Fs y# 023 udiv(x=y-u+v&v <y):
‘Lwju gnig tnwtip, np.

Fs y# 02 3uav(x=y-u+v&v <y) =Ax)
s A(0)
y#0k, 0=y:0+0&0 <y:
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Blupunpbup x =y - u + v&v < y, ujubkdwwnhlnpkt wuyuw-
gnigkup, np.

X' =y u +v,&v <y:

x =y - u+ v pubwdinid wiguklp -h.

X=w-u+v) ' =y-ut+v, ph v<y=2v <y-v-
v = y:

Bph v’ <y, wyuw npytu vy Yybpgukp v, npybtu vy* v’

Gpt v =y, wyu uvnwbnud kup x' =y - (u + 1), hknlw-
pwp npuybu vy Yybkpgubup u + 1, npuyku vy 0:

8n1jg nwtip vhwlnipjniup: Gupwunnpkup.

xX=y-u+vbx=y-u, +v, (*):

Upunwéybjhp pumbwdbtph gmgulnid wnu £ wy =u, v
u; < uy Vuy > u, pmuwdlip:

Bphu; < uz,ululul‘ul +w=u, &w=0)

yo(ug+w)=y-u,

Y ur+y w=y- i

yurty w+ @ +v) =y ux+ (v +v2)

X+y w+v, =x+v;

y-w+ v, =v;:

Uwnwgytg, np y <vy, hugp htwpwynp sk: Zwbgnitinpkl,
u; > u, nhypnid bu Yquip hwjwunipyub, hbnbwpwp u; = u,:

Bphk u; = uy, myu y -uy =y - uy, b (*)-hg unwnwd Eup, np
Vv = Uyt

YQunbih E owpnitwll] tnpwtnp $niuljghwubiph nt hwpw-
pipnipinitittph tbpunidnidp wyju hwdwljupgnid, vwljuyt hw-
gnphy]  Ubkpluyugdnn  gpoyph  hunfwduwgl Yahupugpyh
dntujghwibph b hwpwpbpnipniutph npnowlh juyt quuh
ubpuniddwt dhwubiwlwt htwpwynpnipniup:
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dniuhghwitph ni wpighfwwukph  WEpjuyugmdubtpp
S-nud

Uwhdwmimu

Quubklp, np P(Xy,Xp,...,Xy) hwpupbpnipniut  wpuw-
huypumfnad FS-mu bph gnymipinitt nih S-h' 7 hwn wqun thn-
thnfuwuitbpny A, (x1,%2,...,%,) puwtwdl, npp judwjuljub
ki, ky, .., ky ptmutt pYtiph hwdwp padupupnid £ hknlbyuyg
wuydwutbpp.

Lpt P(ky, Ky, ... ky) = 6w kg Ap(ky, ks, ..., ky),
tpk P(ky, Ky, ..o, ky) = U Hg 1A4p(kq, Ky, ki ):

Uwhdwimd

Yuuklp, np (x4, Xy, ..., Xy) pywpwtwlui dniughwt dé&p-
huymgrinid FS-m, tpk gnynipintt nith S-h' n + 1 hwwn wquin
hnthnfuwljubiubpny Af (x4, X2, ..., Xp, Xp4q) puwbwdl, npp Ju-
dujuljut kq,ky, ..., ky, [ ptwlub pytiph hwdwp pudupupnd
E htnlyu wuydwp.

bpb f(ky, Ky, .. ky) = L wuqut kg Ap (g, Ky . Ky, 1)
Fs Aixn1Ar (ke koo, Ky, Xngq) (1):

Ulwunkup, np $niuljghuyh tkpjuyugnudp, pun tnipjul,
thnjowphtynud £ $niuljghntiw] hwpwpbpnipjut wpinnwhwyn-
dwdp:

Bph (1)-p thnjuwphi]nud £ hbnlyuyny

Fs 314145 (X1, X2, -+, Xy Xng1)s

www $niuyghwt Ynsymd b bwglu dEpluyugng:

Nunnid

Bpt dniuljghwtt buybu  akpuyugynid S-nud, muqw wyn
utpuyugynmid £ S-nud:
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Uyuwgnyg wluhwyn Lt hwenpnwpwup fhpwnymd bEu
Genl V-h wpnupudwh juinbubpp pun xq,%,, ..., %, thnthn-
humutintiph:

Ophuwljubp’

1.0(x) =0,

2.5(x) =x+1,

3.5(x) = x-1,

4. Ih(X1,Xp,...,X) =X, 1 <m <n (ypnykiundwt $niuly-
ghu):

Y sk wuygugmgty, np Jhpp tpfws pnilyghwbpp Y-
nhih b ubpuyugil) S-nmud hbnljw) pwbwdlbbtph Jhengnd,
npnugnid wnlw kb pnjnp thnthnpuwljuiibpp, tnyuhuy ny bw-
Jutubtpp, npytu wquun hnthnpowluubpp.

1. Ag(x1,%2): %1 = x,& x5, =0,

2. As(x1,%2) * X2 = X1,

3. Ag(xy,%5):6; = 0& x;, =0V x; # 0& x," = x4,

4. Am (X, Xy Xng1) ¥ Xnpr = Xn& X = X1 & & X = Xy

Enptd

Gudwjuljut punhwtnip Jupgpupwg hwpwpbpnipmit
(wpEnhjuwn) wpnwhwynynud £ S-nud, b judwyuljut puinhw-
unip Jupgpupwug niuljghw tkpluyugynid k S-nud:

Uhts ptnpbdh wuywgnyghtt wugtbjp swunpwbwp jpw-
gnighs Wymphpht:

2httwljut ptnptd

Judwyuljul x4, Xp, ..., X, ptwub pybph b hnpuunupdw-
PWD WWpq Y1,Y2,--,Yn puwub pytph hwdwp 3z rm(z,y;) =
m(x;,y) 1 <i<n:
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Uwjugnygp ik u, ophtiwl [1], ke 191:

“Thunwplkup Fnnbh Ynnuhg thpdnisdws htunlyw) wnw-
oht hwijwgphg wnwpoppiwy

B(x1,X2,X3) =rm(xy, 1+ (1 +x3) %)  dniujghwt, npb
odunyjwsé L suhwquig hbtnwpnpphp hwmnlnipjudp.

Nunnid

udwyuljut kg, ky,...,k, hwonppuljutnipjutt hwdwp
gnynipjnit niukt wyttiyhuh b b ¢ pybp, np judwjuljwit 0 <i <
n hwdwp B(b, ¢, i)=k; :

Uwwgni)g

Lowwjkip m=max{n kg, k4, ..., ky} : Qputu ¢ ykpgukup m!
phyp: Yuqubip htwnlyuy u; pdtpp vy =1+ (1 +i) ¢ 0<i<n:

u; pYkpp hnpjpwnwpdwpwp wupq bu: Gupwunpbup hwljw-
nwiljp. uj-t n1 uj-t nikl pinhwtnip pwdwbwpup, hknbwpwp
niukl pinhwbnip wwpq pudwbwpup p: Apnswljhnipjui hw-
Uwp Eupwnpbp, np j > iryj—u; = (j — 1) - c nupphpmipnitip
pudwtiynid k£ p-h Jpu:

w) Bupwnpbup c-t mnwtg dtwgnpnh pwdwuymd k p-h
Jpu: u; = 1+ (1 +1i) - c. ,pwbth np uyj-t nt ¢ -t wmnwg dbwgnp-
nh puduiynid Eu p -h Jpw, wmyw 1-p bu wowbg dtwgnpnh
pwdwymid £ p-h ypuw, htgp htwpwynp sk:

p) Gupwnpkup (j —i)-u wnwbg dbwgnpnh pudwind k
p-h Jpu:

Luthnp 0<j-i<nm=nlbc=m!, wyu c-t Wupnt-
twlnud E (—1i) wpunwugphsp: Unwgylkg hwljuunipinib. u;
pytpp thnjuwnwpdwpwp wywupg L

Uhpwnkup shtwljwt ptnpbup ko, k4, ..., k, ptwlut pytph
ni thnjuunupdwpwp Wupq g Uy ... U, phwlub pytph tjuwn-
dwdp
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3b rm(b, u;) = rm(k;, uy), 0<i<n  Ujwwukup, np
rm(k;, uj)=k;, pwtth np k; < u;, hbmbwpwnp.
ki =rm(b,1+4+ (1 +1i)-c)=B(b,ci):
Nunnidt muywgnigykg:
YdJup sk hudnqyt], np dnpdwy puwputinipjutt hwdw-
Jupgnmid Gnpbth Pmulghwtt ubpyuyugynid L hbnlbjuyg
Bt(xq, x5, x3, x4) pmiudliny.

Fu(x, = T4+ 1 +x3) x0) U+ x,&x, <1+ (1+x3)"x3):

Upnkl Jupnn Eup wigubk) pinpidh wmywugnigdwp:

Lwju gnijg Juuwmtp, np jnipwpwsinip pughwinip jupgpi-
pug dniuljghw ukpjuyugynid £ S-nud: Uju wyugnid wmuywgnt-
gtint hwdwp pujuljut k gnyg nnwy, np.

w) htupwjhtt dnrughwtitipp tkpjuyugynid Eu S-nud,

p) punhwtnip Jupgptpwug $niuljghwubph Junnigdwi
huwdwp oguugnpéynn jnmipwpwbygnip hhdtwlwt gqnpénnni-
plul Yhpwpnudp dnpdwy pywpwtnipniunid ukpluyugynng
dnruljghwbph tjuwndwdp mwihu b dnpdw) puwpwtinipine-
unud ubkpluyugynn $niuljghu:

w) Yknh wiundw hhdttwynpnudp mpyby E ophttwljubpnud:

p) Utinh wundwt hhdbwgnpnudp wnwbp jnipupubiynip
gnpénnnipjult hwdwp wnwtdhtt dhhiinyt ujubduyny. npjus
E (ki) Pniulghwt (niuyghwtipp), nph (npntg) tjuwndwudp
Jhpwnynd k gnpénnnipjniup, b gput (nputg) ukpluyugunng
puwtwdlp (pwbwdlibpp), wyw tpynd L gnpénnnipjutt wpn-
ibpp, U jupnigdmd £ wyb ubpluyughng putwdlp’ wyuhn-
Yty ubpjuyugdut vwhdwtdwt wnweht hwnp, hul yiponid
puguwnpynid £ vwhdwiudwb tplpnpng Yenh hpujutwgnidp:

Thunwpltup gnpénnnipjniuttpp:

1) N1y twljwb hnthnjuwljuubtph tbpuniénid

f(x1,X5, ., Xp) A (X1, X2, oy Xy Xpg1)
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h(xy, X2, v, X, Y1, Y2, 0 Yi) = (X1, Xg, ..., Xp)
Ap (1, X2 o) X, V1, V2 o0 Vi Xnb1)
Ag (X1, X2, ooy Xy Xng1) &Y1 = Y1 & . &Y =Yg
Quplnp E ujuunb, np gnpénnnipmnitiubph jhpundudp
unwgynn dnitughwb tkpjuyuginn pwtwdlbh hwdwp b wyu-
wkn nt hwonpnhy owpunpynn nhypbpnid wpwehtt wuydwip
htounnipjudp wmywugnigynid k:

2) Sknunpnipjnih
f(XllXZI ---;Xn) Af (xlfoI""xn'xn+1)
(Y1, Y2+ YK) Ay Y2 0 Vo Yier1)

h(xy, X2, ) X1, Y1, Y25 0 Yio it 1) 0 X )

= (X1, X2, o, Xi—1, V1, Y20 s Vi) Xit 1 > Xn)
V ki, Ky, ., Kimg, my, my, .., my, Ky g, o0, Ky, L pdph hwdwip:
Bpt h(ky, ky, .., Kjmg, my, my, ., my, Ky g, .0, k) = 1 mygu
3 |, wyuwhup, np g(my, my, ..., m) =11 b
f(kq, ko, -, Kizg, I, Kig1, o, kKp) = 1, hiimbwpwip npytu
Ah(xl,x%,...,xi_l,yl,yz, s Yo Xig1s r X ) putwdll Jupkih

Eghwnwplty

3z(Ag (Y1, Y2 o) Vi 2) & Ap(X1, X2, o) Xi—1) Z, Xig 1) +oe) Xg1)):
Zwduwh ghnwplynud £ juinbwlwb nknunpnipinii.

f(x1,X5, ., Xp) Ar (X1, X2, ) Xy Xng1)
gL Y2 Vi) 1 €{1,2,...,n} Ai(V1, V2 ooos Vier Vit 1):

h(Yl' Y2, '"IYk)
= (g1 (Y1, ¥2s -+ YK)r 82(Y1, Y25 s YK o+ En (Y1, Y20 -5 YK))
Vm;, my, ..., my, ] pytiph hwdwp, tpk h(my, m,,...,my) =1,

wyw whwp E gnmipmit ntbbwtb lj,i € {1,..,n} wjtyhuh
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pyYtp, np gi(my, my, ..., my) =1 b (1,15, ..., 1) =1, hbmbwpwp
nputu Ap (Y1, Y2, o) Vi ¥n+1 ) piwdl jupnn Gup nhinwplty.

dz;3z, ... EIZn(A1 V1 Y2s s Vi 21)& . &AL (Y1, V20 oo Vi Zn))
&Af(ZpZz’ s Zny Xpg1):

3) Mupqugnyyt wunpunupdnid

a(Xl'XZ' "-:Xn) Aa(x1’x2’ "'!xnlxn+1)
B(X1,X2, ey Xn, ¥, Z) Ag(x1, X2, oy Xy ¥, Z) Xpg1)
f(x1,X2, v, X, V) Ar (X1, X2, o) X, Vs Xpg1)

Lwth np (X1, Xz, ..., Xp, 0) = a(Xq,Xp, ..., Xp) 1

f(Xq, X2, oo, X, Y + 1) = B(Xq, X, o, X, ¥ F(X1, X2, 00, X0, Y))
wujw vV my,my, ..., myl,k pytph hwdwnp, bptk
f(my, my, ..., mp, 1) =k, myw whwp L gnnipmnit nibbuw
wjuwhuh ko, ky, ..., Ky, np.
f(my, my, ..., mp, 0) = a(my, my, ..., my) = Kq
f(mll my, ..., My, 1) = B(mlﬂ my, ..., My, 01 kO) = kl

f(my, my, ..., my,i + 1) = B(my, my, ..., my, 1, k;) = Kj4q

f(my, m,, ..., my,1) = B(my, m,, ..., m,,1 — 1,k _;) =k =k:

YQupstu, huwsyku Jwiuntwiynp wnbnuppnipjubt hwdwnp,
wju nbypnid bu Jupbkh £ Af (%1, x5,..., X0, Y, Xpq1) puiadlip
uljuly 3zp3z; ... 3z; twppwdwwhsubph fudpny, vwluy wyu
nbhypnid pwbwdlp sh nitbbw twhwybu $hpujus npnowljh
Eplupnipynil, pwbh np bpw Epupnipmitp Yhntnpalh' 1-h
Ubkénipiniihg Yuudws:

Uju wupugquynd oqunipjut £ quihu @nnkjh (x4, X5, X3)
pmulghwlb, wikh uwnnyg wry $mblghwi tkplujuging
Bt(x1,x3,x3,x4) putwdlipn, hpnp, ko, Ky, ..., K pytph qnynipjut
thnpowpkt Junpbih hwunby b b ¢ wytyhuh pybph gnynipjniup,
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nn juduyulub 0 < i < n hwdwnp B(b, ¢, i) = k;, hknnbwpwip np-
whu Af (x1,%3,...,%Xp, Y, Xpp1) pwtwdl Jupnn Eup nhunwplyy
hEunlyu) putiwdlip
Ju Iv[(AwBt(w, v, 0, w)& Ay (X1, X2, ..., Xp,, W))&
&Vt(t<y D Iw;3w,(Bt(u,v,t,w;)&Bt(u,v,t',wy) &
& Ag (X1,X2, -+, Xn, t, W1, W3))& Bt(W, 1, Y, Xp41) |,

npnid u-u ogqunugnpdymid k b-h, vt ¢-h, w-t* ko-h, t-* i-h,
wi 4 kich, w4 Kisg-hy & b, Xagq -t keh hnowpbl:

Yuwpunp nhunnmmpmi: Fnnp Jpnhhoju) nhypbpnud
gnpénnnipjul wpyniupmd uvnwugdus $niujghwubipn ubplw-

jugunn  pwtwdlbpnid npybu wyn $niulghwubph wpdtp
wynd k x4 hnthnpuwljutip, npp ubpuyugund E twub gnp-
dnnnipjutt hhupnid tnus kY Jud tplynt $niuljghwmtiph wp-
dtipp (wpdbtpubkpp), hbnnbwpwp wyn thnhnppwuth wpdbph
dhwlnipjnitup Jbpptwjut pwbwdlinid wwywhnyyniud £ tpw
dhwlnipjudp uljqpiwljut Pniuljghwtt tEpjuyuginng pwbw-
Alimd b wyp wbknh gnmipyut Swdwysh pnipupkipdudp nhuyh
wpnne putwdlh ulqpliwduu’ twhwsu]uyswht wkuph -
nnigdwt opkupubiphtt hwdwdwyt:

3) Ljuquqgnyjith npninid

P(X1,X2, 4+, Xn, Y) A¢(x1,x2,...,xn,y, Xn+1)

Y(X1, Xz, -, Xp) = p—y( ¢(X1,Xz, .., X, y) = 0)

VY my,my, ..., my, | pdbiph hwdwp tpk Yy(my, m,,...,my) =1,
wyu | -p wyt tJuqugnyt phyu k, np $(my, my, ..., m,,1) =0

Zhnbwpwp, npuku

Ay (x1,%2,-.., Xy, y) putwdl Jupkih E nhunwplitp hknbyuy
pubwdlip
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Ap(X1,X2,..., %X, ¥, 0)&Vt(t<y D|Ap(X1,X2,...,Xp, t,0))

Qhunnmpnib: b nupplpnipnit bwpinpn nhwpkph wju-
nbn Ay (X1, %2,-.., %, y) putwdlinid unugqus dmuljghugh
wpdtipp ubpluyugund £y thnthnjuwfutip, ny ph Xpeq, npp
ubpuyugunud k uljqpimjuts niulghuyh wpdtpp, htnmbwpwp
wjunbn nipnyt Enwbwlny £ wywugnigynid y-h wmpdtph dhw-
Unipniup hwljuwunn Gupwunpmipjudp (wpwyl] dwbpudwut
wk u [1]-nud):

Finpbuh wunnudp punhwtnip jupgpipwg wypbknhuwn-
utph S-nud wpunwhuwyndw YEpwptpjuy Yphh hknbjuhg.

LEidum

P(xq,X3,...,%Xy) ypinhjuunp wpnwhwjnynd £ S-nud wy
L Uphuyt wyb phwpnid, Lpp Gpw pumpuwgphs pniulighwb’
Xp(X1,X2,...,Xp)-N, ubpuyugynid k S-nud:

1. Bptk P(x4, Xy, ...,%Xy) ypknhjuwunp wpurnwhwynynd £

Ap (X1,X2,...,%y) pwbwdlny, wwyw Xp(Xy,Xp,...,Xy)
$mulyghwb bpluyugynid Ehtnbyuy Bp(xXq, Xy, ..., X5, Xpit)
(Ap(x1,X2,..., Xn)&Xp 11 = 0) V (JAp (X1, X2, ..., X)) &X 41 = T)
putiwdliny:

Epk Vv kq, ks, .. ky P(ky, k. k) =6, wuyw
Xp(ky, ky, ..., ky) = 0, htmbwmpwip

F Ap(ky, k..., ky), pun wuydwlh

F 0 = 0 pwbwdl,

FAp(ky, kgy-o i k) &0 =10 & ukpud.

- (Ap ey, Ky ) &0 =0V (1Ap(Ry, kg oo )& 0 = 1)

V ukpd.

Bpk Vkq, ks, .. ky P(ky k.0 k) =, wyw
Xp(ky, Ky, ..., kp) = 1, hEmbwpwp

F4p(ky, ka, ..., k), punn wpuaglwbth’

F1=1pwhwdl
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Fl Ap(ky, koo k)&1=1 & Ubipu.
F Ap(ky, kao... k) & 10)V(] Ap(ky, k..., k)& 1=1)
V tkpu.:

2. Bpk Xp(x4, Xz, ..., Xy) Intuljghwtt ukpjuyugynid £

Bp (x1,%X3,...,Xp, Xp41) pwbwdlny, wwyw P(Xq,X5,...,Xy,)
wynpbnhuwnp wpnwhwjnynd £

Ap(X1,Xz,...,%,)  Bp (X1,X3,..., X, 0) putiwdliny:

bpnp, kpk V ki, ks, ..., ky L, Xe(ki ke, ka)=111=0 fud 1=1.

Epk XP(Xl,Xz,...,Xn? =0, wyuw P(ky,ky,..., ky) = 6, hgp
hudwywnwuhiwmunid £

F Bp(ky, ks, ..., kp, 0)
Bpk Xp(ky, k..., ky) =1, myw P(kike,... kn)=u, hkwnnbw-
pup whwp k
F1Bp(ky, k..., kn, 0),

b dundwt tkpUnisdwt juinth hwdwdwyt ywhwnp L
Bp(ky, Ky, ..., Ky, 0) puiwdlihg wpunusty huljuuntpynit’
Bp(ky, kp, ..., kn, 0) F Bp(ky, ky,..., kp, 0) turhuwnpyuy
........ F Bp(ky, ky,..., ky, 1), pwbih np Xp( Ky, Ky, ky) =1
......... + Bp(ky, ka, ... kn, 1)&Bp(ky, ky,..., kyy 0) & UhpUL
.+ Bp(ky, kg, ky, 1)&Bp(kq, k..., ks, 0) 2 (0 = 1)
Xp+1-J Uhwlnipjuit gunphhy
.......... FO0=1m.p.
.......... F10=1u. h. 4p. w.:
Ujuyhuny® phnptdt wdpnnonipjudp wuyugnigytg:

dnpdwy hwdwlwupgtph opjjnubtph gnpbpwmt hw-
dwpwluynid
s =1g0=380)=528>)=78D=9¢g()=11
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g(a;) =5+ 8i,g(x;) =7+ 8i, g(fl.j) =9 +8-2i-3l
g(Pi) =11+8-2k-3!
Ug, Uy, -, Upy punh /plipuh Yuad putiwd i/ hudwpp’
g(Ug, Uy, oov, Upy) = pg(uo) guy) | g(upy)

“Pq «"Pm
npunkn pi-U i-py wuipg phyb

Bph niukup ApA; ... Ax puntinh /pwtwdlitnh/ hwenpnuljw-
tnipiniup /wpnwsnmdubp/, wuyw.

A A Am
B(AoA; - Ay) = pSA) - pEAD . A

Nipownpnipnih

1. Ujpnipkth pnjnp vnwuntph hwdwpubpp jhun Eu:

2. Pnnp pwnbkph (phpdtph, mwppulwb pwtwdbbph, pw-
twdlbkph) hwdwpubpp qnuyq pykp b, b ngputg ukpluyugdut
Utk pninp wwnpq pYtph wunmhdwuubpp hun G

3. Pninp wpunwoénwdubph hwdwpubpp qnuyq pykp B, b

npuig tkpuyugdwt dbke pninp wwupq pytph wunhgwuubpp
unyuwbu qnyq Lu:

Ophtwljutp
gla;) =5+8-7=61
g(x,)=7+8-2=23

2'°-p x1thnthnpuwlwitthg fuquidws phpuh hudwp t:
g(PE(xy,x, ) = 211+8273% . 33 . 515 . 711. 1123 . 135
Ulthwlwb hktwunyp 6-h wquytwiwlwui gpunndp’
X1+ x5 = (1 +x3)
I gpunnidp hudwlupgnud
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PE(fF (20, £ () ), (7 (21, 22)))
g (Pf (72 (e i) 1 (72 (xl,xz)))>

— 2155 . 33 . 59+8-4—-9 . 73 . 1115 . 1311 .
179+8'2'3 . 193 (1)

Zudwpulunmuutph hbpunugdwui gnpénnmipmnih

Yuublp x phyp tbpyuyugind t ao ar..., am ptph hwenp-
nulijumunipjniup, tph x=(po)® (p1)*1.... (pm)*m I, hudwwunwu-
huwtwpwp, y phyp tipjuyugunid £ bo, bi ..., ba pytph hwenp-
nuljuunipjniup, kpk y= (po)®o (p1)b1.... (pn)Pa:

Ukpdniskup  xxy  =(po)®  (p1)a1... (pm)’m(pm:1)bo  (pme2)bi...
(pmene1)bn, npnud, ybphhobing wygnpphpdutph wnbkunmipnithg
huyynth lh(x) b (x)i yupqugnyt Jupgpupwug dntuyghwutpp,
niuklp.

m=1lh(x)-1, n=lh(y)-1, (x)i =ai, (y)i =bi, htvnbwpwup

XY= X (P 1no)eXP(Y)o * (P 1neo+1)@XP(Y)1 -+ (Pingos () EXP(Y)inyy-1

dnruljghwtt bu wuwpqugnyt Jupgpupwg k, b wjt ogrnuugnnpsét-
1m] (1)-p Yupbh E gpby gwwn wnjbih wywpg.

21553359+8'4°9, 23315511,29+82333 57+82

Zunghp

Upmyn p hwgnpnhy ppynn pytphg jnipwpwibynipp np-
dw pyupwinipjub nplk opjkljnnh hwdwnp t.

42, 155, 15, 167, 23, 57, 58, 153, 244, 159,

257’75, 27 523,

23375371551 131313171119572332915315375415435 (*),

2exp23375371551131318171119572332915315375415435 (**):
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Qnnkh wpknhuunp

Qnnkp ubpunst) E hknbyuw ypinhuwnn.

W(u,v) = & © u=g(A (x1)), npnid x1 hnthnjuwjwip wquun k
A putmdlinid

v= g(Bo ,Bs,...,Bz), npnid Bo ,By,...,Ba pmntwdbkph hwonpryw-
juiumpniip A( 0) pwbwdbh wpunwdndi k:

&h'own t wpynp, pk ny W(wv) wypbghwnp hwenpnhy]
pipynn pytiph qnuygkiph hwdwp:

(42,10056008)

(900,900000000)

(701,5000000230000032000)
(4678236,3908)

“Ydwp sk hwdnqyk), np gnynipjnit nith ywpq nt wpnne-
twybn Equbwl jmpupwismp u, v pykph hwdwup W(u,v)
wynpknhuwnh wpdbtpp quntnt hwdwp, hknbwpwp, pun 2np-
sh, ptqh wyt juipgplipug k:

W(uv) wpnhjuunh jupgpipugnipput dnpduy wujw-
gnygp Ypjup htnbyuy dh gupp wptnhunubph nt $mulghu-
utiph Jupgpupwgnipiniihg: Fpwutg hwywynidubpp phpynud
b whqtpky, b dh dwuh Jupgpupugnipmniip wyugnigyus
npwig Jupgptpug ubpjuyugnidiubpnyg: Fnjnp wuhpwdbon
dntuljghwibph nt ywpknhuwwnubkph, husybu bwb ppubg Yup-
gpupwugnipjul wwywugnygubphtt Jupkh b Swinpwtwyg, oph-
twl, [1] npuwuwgpph nniubpkt nmwppbpwlh 158-160-pn Lob-
nnu:

Zuyuynidubiph guly

Fml - formula — putiwdl

Vbl - variable — thnthnjuwjuit

Proof — proof — mipunnwuénid
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Free — free — wmquun

Sub — Substitution — inknunpnipnih

Res — result — wipnniup

Neg— negation — djuwnnniu

Fml(uw)=4 wjtt b dhuytt wyt niypnid, tpp u-u npbk pubw-
Alh gnpjut hwdwnp L,

Elemfml(u)= wjt & dhwytt wyb ghwypnud, kpp u-u nplk
nwppuliwt pwbtwdlbh gnpbjjut hwdwnp E,

Freevbl(u,x)=4 wju b Uhuytt wy niwygpnid, tpp u-u nplik pu-
wdlih gyt hwdwp E, hul) x-p° tpu wqun hnhnpowljw-
uh gnpbpjut hwdwp,

Term(t) =4 wyt b vhuyt wy nhwpnud, tpp t-u nplk ppdh
gnpbpwut hwdwnp E,

Ax(x) =€ uwyt b vhuyt wyb nhypnud, tpp x-p nplk hkbw-
unyph qnpbjjwt hwdwp k,

Axi(x) =4 wyu b dhuyt wyt nlwypnud, tpp x-p i-py hktw-
unyph qnpbjjut hwdwp k,

Funcvbl(x)=4 wyt b dhuytt wyt phypnud, kpp x-p nplk
dniuljghntiw) thnthnpuwljuth gynpbjjut hwdwnp t.

y .z
Jy<x Iz<x (x=9+8-2" -3)

Predvbl(x) =4 wjut b vhuyt wytt nlwgpnid, Lpp x-p nplk wypk-
nhijuwnuwjhtt hnthnjuwljuuh gnpbjjut hwdwp k.

z
Jy<x Iz<x (x=11+8-: 2y -3):

Vbl(x) = wytt b vhuytt wyt nphwypnud, tpp x-p nplk wnwp-
Juywljut hnthnjuowjuth ginpbjut hwdwnp E
Jy<x (x=7+8-y):
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Subfree(x,y,t) =& wyt b Uhwyt wy nwpnid, tpp t gnpbjjut
hwdwp niukgnn phpdp wquun £ nbnunpdwt hwdwp y qynnpk-
put hwdwp niubgnn pwbtwdbnid x gnpbjjut hwdwp niubkgnn
wnwplujulut thnthnjpwljuth thnpjuwpbi:

Prooffml(x,y) =4 wju b dhuyt wya nwpnid, Epp y-p x gnn k-
putt hwdwp niukgnn pwtwdlh wpnwsdwt gnpbjjut hwdwp
E:

Ressub(y,x,t)= y qnnljjut hwdwp niuikgnn wpunwhwynnt-
pintunid x gnpbjjut hwdwpny wpwpuyulwt hnthnpwlw-
tuh thnpuwpk t ggnpbjjut hwdwp niikgnn ppdh nbnunpdwb
wipyniuph hwdwph

Argfuncvbl(x)= ([(x—9)/8]): druyghwt ubpljuymgunid £ x
gpbpwut hwdwp nitibkgnn $niuljghntiw) thnthnjpwljwuth wp-
gnudktntbph putwlyp:

Negfml(x)=2°3"x-2> dniuljghwtt ubipjuyugumd b x qnnk-
putt hwdwp niikgnn puwtwdbh dundwt ginpbjjut hwdwnpp:

MP(x,y, z) =& w1 b Uhuyt wy niygpnud, Lpp z-p x n1 y gyn-
nhpwt hwdwpubp niikgnn pubwdbtph tfundwdp m.p. ju-
unth Jhpundwdp unnugjusd puwttwdlih gnpljjut hwdwpt t.

y=23x-27-z: 2> & Fml(x) & Fml(y) & Fml(z):

Gen(x,y) =& uy & vhwytt wyt nhwypnud, Epp y-p x qynpbjjut
hwdwp niubkgnn pwbwdlh tjuundwdp Gen Jwunuh Yhpwn-
dwl wpyniuph gynpbjjut hwdwp b

Proof(v)=4 wju b dphuytt wy nlypnid, tpp v-u nplk wp-
wnwsdwt gynpbjjut hwdwnp .

Jz<v(Ax(z)&v=27)VvIx<vIy<vIz<vIu<v(Proof(z)&
v=2:(pix@)*&MP((z)x,(z)y,u) VIx<vIy<vIz<v(Proof(z)&v=z-(prw)&
Gen(x,(z)y) V 3x<v3Iz<v (Proof(z)& v=z:(pnw)&Ax(x)):

Prooffml(x,y) =& w1 b huyt wyt nypnud, Epp y-p x qnnk-

put hwdwp niilignn putwdbh wpnwsdwt gogbjjut hwdwp b
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Lwiuh np W(u,v) ypbnhuwup jupgpupwg b, hbnbwpwp
qnuipjmt muh S-h' bpym wqun  thnthnjuwluibbpng
W(x4, x2) pwtwdly, npp juduwywlui u b v pYbph hwdwp pw-
Jupupnid £ hEnbjuw) wuypdwbbbpp.

tpt W(u,v)=,wyw ~; W, v) (%),

tpk W(u,v)=U,uuyu +4|W (u, v):

Upw hhdwt ypw junnighup htnlyw) puwbtwdbp.

A(x1) = VX2 ]W (xq, x2) (1):

Blupwunpblp u=g(A(x;)): u-h phpuwghtt wwwnlkpp nbnw-
nnkup (1)-nud.

A(m) = Vx,|W(, x3):

Uju putwdih hdwuwnp hknbyjuyb B juduyuljut wpnws-
dwt hwdwp &how sk, np wyn wpnwoénudp A(4)-h wpnwsnid
E, puyg A(u)-p hkug hupt wyn pwbwdlbi E, hbnbwpwp wyn pw-
twdlp hupt hp dwuht wugnd E, np sh wpunwsynud:

Uju wundwt £odupunughnipjutp jhudngykup hwenn-
np:
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Qynnbh pinpEdubkpp ng (phynipjut dwuht

Phnpkd 1

Bprt S-u wthwljwubh £, wyyu S-mud sh wpunwusymd A(u)-n:

Uuwwgnig

Bupwnnpkup hwljupwlp. S-h wthwlwubkihnipjut yuwpw-
quynid A(u)-u wpunnwsynid  S-nud, htnbwpwp Jupbh kol
wyn pwbwdlbph wpunwsdut pwtwdbbph hwonppuljwunt-
pinLl, np.

Fs B 0
v=g Fs :B 1

Fs VX W (W, x3) (2):

Bpk juw wpunwdnid, wyw gnnipjnitt nith wpnwsdwb
gt hudwpp' v, hbnbwpwp W,v)=& U (*)-h hudwdwyi’

Fs W, )
FIW (W, ¥)  2)-hg V-h wpuiwpuntd,

husp hwjwunwd £ S-h wbhwljwubjhmipjut wujdwuhb, hb-
nbwpwup A®)-h wpunwskihnipjut YEpwpbkpu) Gupwnpnt-
pjip uuu kp:

hnpbdt wuywugnigus k:

dnpuw] mbumpjut hwdwp Consis (wihwlwubihnipmnt-
uny tpwbwlkup hknbywy putwdlip.
VxVsz—| (Fml(x)&Prooffml(x,y)& Prooffml(Negfml(x),z)):

Qnnkih phnpbud 2 Consisg sh wpnwdynid S-nud:
U.]uhhph‘ pYwpwtnipjutt wthwlwubkihnipjniip hp huly

Uhongutinny sh wuywugnigynid:
Uywgnigkup huljuunn Eupunpnipyjudp.
ks Consisg Lupwnpnipjnih
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ks Consisg D A(u) phtnpbd 1-h wwywgnigdwt $npduy
ubpluyugnid

ks A(@) m.p.,
htsp hwjwund £ wnweohti pinpbuhi:

fPinptd

dnpdw) pYywpwtinipniut wthwljuubih k:

(Unwtg wuywugnygh, pwh np twpunpy phnpbdh wyiundw
hwdwduyt' wju winnudp whnp E wyugnigdh wpun]l) pupn
wnbunipniinud, nph vwhdwidwt nt ntunmdtwuhpdwt hwdwp
whwp Y1hth pugnighs dwdwwl (nk u, ophliwl [1], pniubpki
nwpplpulh 282-295-p1 Lotipnid)):

Zhknhwp pinptdutphg

dnpuw) pywpwtinipiniun |phy sk:

bpnp, twjunpny tpynt phnpbdubpmid wywgnigyty E Epynt
&hown yuynmudubph wpunwstkihnipjut wthttwphunipniup $np-
dw] puwpwinipjut Uky:

Nupqupwbimid

w) Upuunbn owpunpdus E Qnpih gpuljwbmipyniihg
huyinth wnwehtt ptnpbdh Jhuytt wowehtt wunnudp A(w)-h
swupnwoytnt  dwuhl, b nghty wudwé sk wn pwbwdlh
dhandwt yhpwpbpjuy: Zwupgh wyu b, np dkq Unin $npdwy nk-
unipjutt [phynipniip vwhdwdl) b «unpuuunugdus» mwuppk-
pulny npubu wyy hwdwljwpgnid jnpupwbsnin «€howns pu-
twdlh wpunwskihnipyut hwun, dhisphn qpuljuinipniund
pugnitjws k ny (phynipjut wy) vwhdwiniud, npyku wjyhuh
thwly putwdlih gnynipynil, np n's hpl, n's b hp dunnudp wyy
hudwlupgnid skt wpnwsynud: ULY Jhuwdjuyjh dudwpw-
twlh unnipjut undwnny odkqu-wthwljwubjhnipjut qu-
nuthupht swinpunuptwnt hwdwp jud Mtnuubph tdwbne-
pjudp wpwyl] pupny wy] pwbwdl subpdnistint hwdwp
nunpyt) £ Ynphh pinpidh wju «canuuyunugus» nupptpw-
4p, nphg b plunid £ hudwljwipgh ng ippaf thbp:
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p) Mhin bwpwpwinid uoyby kp, np Yol 1931 puljw-
uhtt mywgnigwué wnwehtt phnpbdt wn wyjuop hwdwpynmd k
jwjugnyup dupbdwnhiujut pninp wunmudubph owppnud:
B L, pt hty Uh wnwbdtwybu hwjnbnipnit £ wpyby. ot
np pYuwpwinipmniip Jwpbdwnhljujut wdkiwpntyy wbunt-
piniul k, b tpw phy sjhubnt hwbqudwupp Yunpbih kp hwdw-
b vyuubih, vwuy, bpk nipwunpnipinit nupdutup vh puwh
Juplnp hwtquuwupubph Jpu.

e pYwpwinipniup pujws b dwpbdwnhiuliut pnnp

wnwpluubkph hhupnid,

e mipwpubynip Jupgpipug wpknhjuwn wpunwhwjn-
Ynud k npduy pyupwinipjniunid,

e gnpbpwt hwdwpwluwnudp vwhdwbdb] Ep ny dhuyg
pupwinipjul, w)] judwjuluit dnpdw; nbunipjut
hwdwp, hknmbwpwp nnbh ywpknhljuwnp jupgpupwg
E nputighg jnipwpwisjnipnid:

UoJws Eplip wunnudubphg plunid E, np yjmpupwbgynip wé-
hwlwubih duptdunhjuljut wkunipmiunid w) jupkh k
Junmgh] putiwdl, npb hipt hp dwupt jhugnih hpkt huly wyy
nbunipniimd swpnwdybne Jepupkpu), b p) wyn nbkum-
piut whuuwubjhmpinitip hp hul dhgngmudutpny wujugni-
gt htwpunp sk:

Puwjut k, np nplk hmjuubih wkunipniup wthdwun dh
pwt k, pwth np npunid httwpwynp £ wpnwstk] wdkh dh wib-
htptpnipmniu:

®wuwnnpkl' Ynnhih phopkdh wpdbpl wyl k, np hiswhup
unp wthwljwubh dwptdwnhjuljuwt nbunipnit ) hbnwqu-
jnud jureniggh, dhbinyuu k, Yqunigh dkl dodwphwn winmd,
npl wyn mbumpyut Jhengutpnyg sh jupnny wywugnigdt): Uju-
whuny' dwpbtdwwnhljuwd nuh widtpy qupquiwnt httwpw-
ynpmpjniic
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qurdnke3NhLLEN

U. LoJwd puwtwdlibph nt hwjupwéniubph hwdwp gnigunply
Gudwnh (Eddwh wungdwt hpujwughnipiniip.

pr2((\ps>p2)>1p1) (0,0,0)
1p1>((\psopz)ap;)  (0,0,1)
(p1=21p3)> 1 (p22p1) (0,1,0)
P (oeNpy) (O.11)
1 (p12(p3>1pz))opr  (1,0,0)
((p:12\ps)> \pz)op: (1,0,1)
(p12\p3)2(p221p1)  (1,1,0)
p12(\ps>1 (p2op1)  (1,1,1)
(\p1>(ps>\pz))op: (1,1,1)
10.1 ((p121p3)2 1p2)op: (1,1,0)
11. pio(\psopz)>1p1)  (1,0,1)
12, -|p13(ﬂp33p2)3p1) (],0,0)
13. (p12\p3)>1 (p2op1)  (0,1,1)
14. pio1 (pso(p221p1))  (0,1,0)
15.1 (pi2(ps2\p2))op:r - (0.0,1)
16. ((p1=1p3)> \pz)>opr - (0,0,0)
17. (p121p3)>(p221p1) 0,01)
18. p1>(\psD1 (p2op1))  (0,1,1)
19. (\p12(ps2\pz))opr - (1,0,0)
20.1 (p121p3)2 1pz)opr - (1,0,1)
21. 1 (pi2\ps)21pz)op:  (0,1,0)
22 (p12\p3)21 (p2op1)  (0,1,1)
23. pi2((\ps2pz)21p)  (0.0,1)
24. \pi>(\ps2p2)2py)  (0.1,1)

~

o % NS AN LN
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25. pi21 (ps>(p221p1)
26. 1 (p12(p321pz))opi
27 ((p1=1p3)> \p2)=pi
28. (p12\ps3)>(p221p1)
29, pio(1ps3 (p23p1)
30. (\p1>(ps>1pz))=pi
31. 1 ((p121p3)> \pz)op:
32. pi2((\ps=>p2)>1p1)
33. 1p12((\ps>pz)>p1)
34. (p121p3)> 1 (p2op1)
35. p121 (ps2(p221p1)
36. 1 (p12(p3>1pz))>pi
37 ((p1=1p3)> 1\p2)=pi
38. (p12\p3)>(p2>51p1)
39, pro(1ps3) (p22p1)
40. \p1>(p3>1pz))op:
41. 1 ((p121p3)> 1pz)op:
42. pi>((\ps>pz)> 1p1)
43. 1p1>((\ps>pz)>p1)
44. (p12\p3)> 1 (p22p1)
45. p121 (ps2(p221p1)
46. 1 (p1>(ps>\p2))op:
47. ((p121p3)> 1pz2)op:
48. (p12\ps)>(p221p1)
49, pio(1ps3) (propy)
50. \p1>(ps2\pz))op:
51. 1 ((p:1=21ps3)> 1pz)op:
52. pio((\ps2pz)> 1p1)
53. 1p1>((\ps>p2)>p1)
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(1,1,1)
0,0,0)
(1,1,0)
©0,1,0)
(1,01)
(1,1,0)
(1,0,1)
(1,0,0)
0,0,0)
0,1,0)
©0,1,1)
(1,0,1)
0,0,1)
0,0,0)
0,1,0)
(1,0,1)
(1,0,0)
(1,0,1)
(1,0,1)
(1,1,0)
(1,1,1)
0,0,0)
00,1)
©0,1,0)
0,1,1)
©0,1,1)
©0,1,0)
©0,0,1)
©0,0,0)



54. (p121p3)> 1 (p2op1)
55. p121 (ps2(p221p1)
56. 1 (p12(p3>1pz))>pi
57. ((p121\p3)> 1p2)opi
58. (p121ps3)>(p221p:1)
59. p12(1ps21 (p22p1)
60. (\p1>(p3>1\pz))opi
61. 1 ((p:121p3)> 1pz)ops

94

(1,1,1)
(1,1,0)
(1,0,1)
(1,0,0)
(1,0,1)
(1,1,1)
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. Upnwésk] X wunypuwyhtt hwoynid.

PNV W

N N NN DNNDNNMNNRRR 2 92/ 3 /2 92 = = \©
PEISTEIN S ORI TR W=D

TAD1C) o ((IC>B) o (C>A))
B> (C>(B21A))

(1A&B) o (1A 2 B)&(B 2 1A)

1B o ((AVB)V1A)

1A o (AVB o B)

(ADB)> ((B21C) > (C>1A))
(TAVB)&C o (1A&C)V(B&C)
(AVB)&(AVC) o AV(B&C)

(A o B) o (A&C o B&()

(A>1B) o (1(A o B)V1A)

. (Ao (B> CVIO)

AV(BVC) 2 BV(AVC)

C > (A > (1B > A&IB))

B o (1A&B o (B o 14))

1B o (1C > 1(BVQ))

1(A&B) o (1AV1B)
(Bo2C)>((B21C) o (1IC>1B))
(A>1B) o (CVA o CVIB)
(AVB&1B) o A

((AVB)&((AD 0O)&(B>20))>C

. 1(B21C) o ((1C>2A) o (C>B))
. JA> (B> (AD10))
. (IB&B) o (1A o B)&(B o 1A)

1B o ((AVC)V1A)

. 1AD> (AVC 2 Q)

(A>DB)>((B>1D) > (D> 1A))
(TAVD)&C o (1A&C)V(D&C)
(AVB)&(AVD) o AV(B&D)

(B> A) o (B&C o A&Q)
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30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.

(A>1C) o (1(A> C)V1A)

(D> (B> CVIO))

AV(BVA) o BV(AVC)

D 5 (A > (1B 2 A&IB))

B> (1C&B 2 (B2 1C))1A o (1C 2 1(AV())
1(A&C) o (TAV1C)

(A2 C) > ((A>1C) o (1C > 14))
(A>1B) o (DVA > DV1B)
(CVB&1B) o C

((AVD)&((AD CO)&(D > () o C
1A210) (D 2 (C2A)

B> (C>(B>1A))

(TA&B) o (1A 2 B)&(B 2 1A)
1B o ((AVB)V14A)

1A > (AVB 2 B)

(A>B)D ((B21C) o (C>1A))
(TAVB)&C o (1A&C)V(B&C)
(AVB)&(AVC) o AV(B&C)

(A o B) o (A&C o B&()

(A> 1B) o (1(A © B)V1A)

(A> (B> CVIO))

AV(BVC) o BV(AVC)

C> (A> (1B> A&IB))

B o> (1A&B o (B 2 1A))

1B o (1€ o 1(BVC))

1(A&B) o (1AV1B)
(Bo>C)>((B>1C) > (1C 2 1B))
(A > 1B) o (CVA > CV1B)
(AVB&1B) o A

((AVB)&((A > 0)&(B > () >C
A&IAD> BV 1B
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Q. Fhplk) tpkip mhwh dEjuwpwinipmniuttp, npnugnid tpdws
pwbwdlp w) phpwgnpstih b, vwluyb tnybwpwinipmnit sk,
p) ingyuwpwunipinit k, ¢) hwljwunipnit k: Gpk nputghg nplik
Uklp htwpuynp sk, hhdtwdnpl] yuwngwnp.
1. (Vx1P7 (x1,x2))& PZA(fi'(a1),x2) > Vx1P7# (x1,X2)
2. x (y-z)=xy-xz
3. WxiPrA(x1,f1(x3),.x2) 2 P2 (fi'(x3))
4. xtyz=y+xz
5. WxiP7# (x1,x3))V P2 (fi'(@az)) 2Vx1P7 (x1,x3))V P2 (fi'(az))
6. (x+y) z=xyz
7. Fxi(Vx2P7 (x1,X2)
8. x=y&y=zox=z
9. (Vx1P7 (x1,X2)) > PA(fA(xs5,82),x2)
10. x+y=zox+z=y
1. Vx1(P7# (x1,x2) 2 PZ(x1, fi'(x2)))
12. xty=zox=z&y=z
13. (Vx1P7# (x1,X2)) DPA(f1(X3),x2) V(VXx1P7# (Xx1,X2))
14. x=yVx=zoy=z
15. [Ax:(VXoP7 (X1,X2))
16. x-y-z=xVx-yz=yVxyz=z
17. (Vx1P7# (X1,x2)) D(PA(f1(X3),X2) 2 Vx1P# (X1,X2))
18. x-yz=xVxyz=yVxyz=zo3(x=y=z=1)
19. Vxi(P72 (x1,X2) 2 IPA(x1, f(x2))
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20. x-y-z=x&x-y-z=y&xy-z=z

21.

(P72 (x1,x2) 2PA(Fi(x1), 1(X2))

22. X=y=zoxy=x7=yz

23.
24.
25.
26.
27.

28.
290.

30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.

(YXx1P7 (X2,X1)) D P2 (X2, (X3,X2))

(xX=yz) 5(x=y)V(x=z)

Tx1P2 (X1,X2) 3 [(VX3PZ (X1,X2,X3))

(X<y) 2 (xy=2x-x)

(Vx1P7# (X1,x2))& 7P22(f17(X3),X2)) 2 Vx1P7# (X1,X2)

[+ )+a=x +(a+Y))
(Vx1P72 (x1,x2)) 2(] PA(f1(x3),X2)) > 3x1P7 (X1,X2))

(X<y) 2 (x+y2x+x)

PA(f1(x3),x2) 2( WxiP7? (x1,x2)) 2 PA(fy'(X3),x2))
(VX1P72 (x1,X2)) D(P2(fi(X3),X2)) 2 IP? (x3,X2))
P2(f1(x3),x2) &( Yx1P7 (x1,X2)) 2 PA(fi(x3),x2)
P2 (x1,X2) 2 IPA (i (x1), F(x2))

P2(f11(x3),x2) S(Vx1P7 (x1,x2)) V IPA(f/(x3),X2))
(P72 (x1,x2) DPA(fi (x1), f1'(x2))
PA(f1(x3),X2) SP2(f1 (x3),X2) & Vx1P7 (x1,X2))
PA(f(x1), 1 (x2)2P7 (x1,x2)

(Vx1P72 (X1,x2) V IP2(fi (x3),x2))> PA(f1(x3),Xz2)
(P72 (x1,x2) DPA(fi (x1), f1'(x2))

Vx1P2 (X1,X2) 2 (VX1 IP2 (X1,X2))& PA(f(a1),x2) X2)
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42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.

P21 (£ (x3)) 2 Vx1 P73 (X1, (X3), Xz2)

x 1P (Xf,Xg))VPﬂ(fﬂ(az))D Vx1P# (X7,X2)) |/7P27(f77(82))

Txi(VXP7 (X1,X2)) D IPA(FA(X3,82),X2)
P2(fA(x3,a2),x2)2 (VX1P7 (X1,X2))

PZ(x1, i (x2)))> [ox:(P# (x1,x2)

PZ(f17(x3),x3) V(VXx1P7# (X1,X2))> / (Yx1P7# (x1,x2))
(Yx1 IPZ (X1,x2)) 2 [Fx1(VX2P7 (X1,X2))
(PA(f1(x3),x2) 2 VX1P# (x1,X2))= ( JxP2 (X1,X2))
P2(x1, fi'(x2)))> Mxi(P72 (x1,x2)
PR(x2,[2(x5,X2))2 | (VX1P7 (X2,X1))

[Fx1P7 (X1,X2)2 [VX3P# (X1,X2,X3))

Vx1P7 (X1,X2) 2 [ (Vx1P7 (x1,x2))& | PA(fi(x3),x2))
BxiP7 (x1,x2))2 (VxiP7 (x1,X2)) 2( | PA(f1(x3),x2))
(P2(f1(x3),x2) 2( 'x1P72 (x1,x2)) > IPA(fi (x3),x2)
P2 (x3,x2))2 (x:1P7 (x1,x2)) D(PA(fi(x3),X2)
P2(f11(x3),x2) SP2(f1(X3),.X2) &(T7X:P7 (X1,X2))
P2(f1(x1), f(x2)> P2 (x1,x2)

(Yx1P72 (x1,x2) V IPA(F (x3),x2)) 5P 2(f1 (x3), x2)
(P2 (x1,x2) 2 IPA(fi(x1), Fi(x2)))
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1. Phpk bwpowswuyswhtt nkuph.

1. (Vx1P7 (X1,Xx2))& P2(f1'(a1),x2) 2 Vx1P7# (x1,X2)

VX1P A (X1, Fi (X3), X2) D3x:P2 (F(X3))

Yx1P72 (x1,x2))V P2 (fi(az)) 2VxiP7 (x1,x2))V P2 (fi(az))

Ix1(VX2P7 (x1,X2)) 23x3P5" (f1(X3))

(VX1P7 (X1,X2)) > Ex2PA(FA(xs5,82),x2)

Yx1(P7# (X1,X2) 2 73X1P22(X1, fi'(x2)))

(Vx1P7# (X1,x2)) DPZA(f1(x3),Xx2) V(VX1P# (X1,X2))
Fx1(VX2P7 (x1,X2)) 2 [(VX5P2 (X1,X2,X3))

(Vx1P7 (x1,x2)) D(PA(f1(X3),X2) 2 VXx1P7# (X1,X2))
10. [(Vx3P2 (X1,X2,X3))&(P72 (X1,X2) 2 IP2(x1, fi(x2)))
11. (Vx1P7 (x2,X1)) D (VX3 PA(X2,F2(X3,X2))

12, 3x:1P72 (X1,X2) 2 [[VX3P# (X1,X2,X3))

13. (Vx1P7 (x1,X2))& | PA(fi(x3),x2)) 2 Vx1P7 (X1,X2)
14. (Vx1P7 (x1,X2)) (| PA(fi(x3),x2)) > 3x1P7 (X1,X2))
15. Ix:PA(fr (x3), X2) 2( Wx1P72 (x1,x2)) 2 P3(f1(x3))
16. (Vx1P7 (x1,X2)) D(PA(f1(X3),X2)) 2 Fx2P7 (X3,X2))
17. P2(f,(x3),x2) & Ix1P7 (x1,x2)) > PA(f1(Xs),x2)

18. x:PZ (x1,x2) 2 lYx:PA(fi(x1), f1'(Xz))

19. [Ax:PA(f1 (X3),x2) D(Vx1P72 (x1,x2)) V P3'(fi(x3))

20. BxxP7 (x1,x2) 2(Vx:PA(f7(x1), Fi(x2))

© ©® N O O A W N
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21. VxiP? (x1,x2))V P2!(f1(32)) 2 Vx1P7 (x1,x2))V | P21 (i (az2))
22. Axy(VxoPP (x1,X2)) 2 PA(2(x3,a2),X2)

23. PA(fA(xs,a2),X2)> (VX1P72 (X1,X2))

24. PA(xy, 1(x2)))> lxi(P72 (x1,x2)

25. PA(f1(x3),x2) V(Vx1P7 (x1,x2))2 [ (vVXx1P7 (X1,X2))
26. (Vx1 P72 (x1,x2)) 2 [Ax1(VX2P7 (X1,X2))

27. (P2(f1(x3),X2) > Vx1P72 (x1,x2))> ( Vx1P7 (x1,X2))
28. PA(xs, fi(x2)))> lxi(P7 (x1,x2)

29. P2(xz, FA(Xs,x2))2 | (VX1P7 (X2,x1))

30. [Fx:P2 (X1,x2)2 [(VX3P# (X1,X2,X3))

37. VxiP2 (x1,x2) 2 | (VxiP2 (x1,x2))& [ PA(f1(x3),x2))
32. [3x:1P7 (x1,x2))> (VxiP7 (x1,x2)) 5] PA(fi(x3),x2))
33. (PA(f1(x3),x2) 2( Wx:1P72 (x1,x2)) 2 PA(f(x3),X2)
34. P2 (x3,x2))> ( /xiP7 (x1,x2)) 2(PA(fi (X3),X2))

35. P2(f1(x3),x2) 2P A(f1 (x3),x2) &( VX:1P72 (X1,X2))

36. PA(fi(x1), fi'(x2))> IP7 (x1,X2)

37. (VxiP7 (x1,x2) V IPA(f(x3),X2)) 2PZ(fi (x3),X2)

38. [P7 (x1,x2) > IPA(fi(x1), fi'(x2)))

39. P (fi(x3)) 2 Vx1P7(x1, f (X3),X2)

40. P2(x1, f'(x2)))> xi(P72 (x1,x2)

41. P2(f1(x3),x2) V(Vx1P7 (x1,x2))> | (Vx1P7 (X1,Xz2))
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42, (vx1 P2 (x1,X2)) 2 [Ax1(VX2P7 (X1,X2))

43. (PA(f/(x3),x2) 2 Vx1P# (X1,X2))> ( Jrx,P2 (X1,X2))
44. P2(x1, fi(x2)))> xs(P2 (x1,x2)

45. PA(x2,FA(x5,x2))> | (VX1P7 (X2,x1))

46. [Fx1P7 (x1,X2)2 [VX3P# (X1,X2,X3))

47, VxiP7 (x1,x2) 2 [ (Vx1P2 (x1,x2))& | PA2(f1(x3),x2))
48. Fxi1P7? (x1,X2))2 (VxXiP7 (x1,X2)) 2( [ PA(f/(x3),X2))
49. (PA(f1(x3),x2) 2( l'x:1P7 (X1,x2)) 2 IPA(f{(X3),x2)
50. P2 (x5,x2))> (lxiP# (x1,x2)) 5(PA(f1(x3),x2))

51. PA(f1(x3),x2) 2PA(fi (x3), x2) &( Vx:1P7 (x1,X2))

52. PA(fi(x1), fi'(x2))> [ VP2 (x1,x2)

53. (VxiP72 (x1,x2) V IPA(f(x3),X2)) 2PZ(fi (x3),X2)

54. (P2 (x1,x2) 2 IPA(fi(x1), i (x2)

55. PA(f1(x3),x2) &( x1P72 (x1,X2)) 2 PA(f{(X3),x2)
56. [FP7 (x1,x2) 5 PA(fi(x1), Fi(x2))

57. PA(fi(x3),.x2) 2(Vx:iP? (x1,x2)) V IPA(f(x3),X2))
58. [(PF (x1,x2) 2 BPA(f (x1), f1'(X2)))

59. P2(f1!(x3),x2)2P2 (1 (x3),x2) &( ¥x1P# (x1,x2))

60. [FPA(f(x1), f1(x2)2P7 (x1,x2)

61. (Yx:iP72 (x1,x2) V IPA(fi(x3),X2))2 P2(f1(x3), X2
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B. Upnwst) $npdw) pywpwtinipiniunid.

t=rol14+t =1"
ts=0&s=t'D2t=0
+r)y+s'=@t+ (@ +5s))"
t'+3=t'+4

T(t+s=0) 2t =ys)
t<s O (s =r D t<r)
t'+3=(t+1)"
r=0&t<s D tr =sr
3t+1=02t) '+t
t+7r)' =t +71r

. r<s&s<tDdr+2<t
t'+1) =t+4
t=1Dt<r +2
t'+r=r+t
t+s=rot'+s' =r"
t<s&s<tot=s
t"+2=t"+3
Nt=s)D2Wt+s=0)

'+ @ +s)=((t+71r)+s)"
2t+3=(t)" +t

. 3t+4=020)"+t
t=ro24+t =1"

. ts=0&s=t"Dt=0

" +rY+s' =+ T +s)""
Lt +4=t'+5

Wt+s=0) o (' =5
t<s D (s =71"Dt<r’)

U3 =+ D
r=0&t'<s D t'r =sr

L 3t+2=02t)+t

—_

WX NI WS

W NN NDNDNDNMNMNNNDNMNDMNRFRE P2 PR 2 2 = = =
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31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.

t+r)" =t"+71
r<s&s'<td>r+3<t
t"+2) =t+5
t=r'Dt<r+3
t"+r=r"+t
t'+s=rot' +s' =7
t'<s&s<t'ot'=s

" +2=t'+4

1t =s)>1(t+s=0)
t+ (" +s)=(t+r)+s)"
2t+4=(t)""+t¢t
3t+2=02t)"+t¢t
t=ro2+t =r"
ts=0&s=t"Dt=0

& +ry+s" =+ @ +5s))"
t"+3=t"+42
M(t+s=0)>1(t" =s"
t<sD (s=7r">ot'<r'"")
t'+4=(t+3)"
r=0&t<s" D tr =sr
3t+2=02t)+t
t+r)" =t +7r"
r<s&s<tdr+3<t
t'+3) =t +4
t=r"Dt<r+3
t+r" =1 +t"
t+s=rot+s=1
t<s'&'<tot=s'
t"+2=t+4
1(t+s'=0)
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Q. Gunnigh] hbhwnljuwy $niughwtn S-md ubkpluwjwugung
putiwdlip.

F(x,y) = x> +3ly

F(x,y,z) = y? + 3rm(x, z)
F(x,y) = max(2x,3y?)
F(x,y,z) = min(x,y+ 1,z + 2)
Fx,y) = |x—2yl

F(x,y,2) = rm(xz, 3y)

F(x) = py(x+ 5y = 40)
F(x,y,2) = max(rm(x,y), 3z)
F(x,y) = 8x+sg(y)

F(x,y,z) = 2xy-z

- F&) = py (Ix—2y[ =0)
F(xy,z) = [xy/27]

Fx,z) = ny(lxz—y| =0)
F(x,y,2) = 2xy—3z

F(x,y,2) = min(rm(x,z),y)
F(x,y) = sgl|3x = 2y|

F(xy,z) = [xz/3y]

F(x,y) = p(I2xy —z| = 0)
F(xy,z) = [x/y] + 3z

F(xy) = min([x/2],[y/3])

. F(x%,y,2) = min(max(y, z), X)

. F(x,y) = 4x2 +3ly

F(x,y,z) = 5y% + 3rm(x,z)
F(x,y) = max(2x,32y?)

. F(x,y,2) = min(x,y + 31,z + 2)
F(x,y) = |x—32y|

. F(x,y,2) = rm(7xz, 3y)

F(x) = py(x+ 5y = 409)

W o N W

N NN DN NNNNNRPR R B2 2 92 2 92 92 §$92 $=
® N U KR WVNE,SO®NO Uk WN = O
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29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.

F(x,y,z) = max(2rm(x,y), 3z)
F(x,y) = 18x + sg(y)
F(x,y,z) = 2xy-3z

Fx) = ny ([4x—2y| = 0)
F(x,y,2) = [3xy/27]

F(x,2) = py(lxz —2y| = 0)
F(x,y,z) = 2xy—3z

F(x,y,2) = min(rm(x,z),y)
F(x,y) = sg|3x — 2y|
F(x,y,z) = [xz/3y]

F(X'Y) = llz(|2XY - Zl = 0)
F(x,y,2) = 7[x/y] + 3z
F(x,y) = min([x/2],[y/13])
F(x,y,z) = min(max(y, z), 5x)
F(x,y) = x?> + 4!y

F(x,y,2) = 7y? + 3rm(x,z)
F(x,y) = max(21x,13y?)
F(x,y,z) = min(x,y + 71,z + 2)
F(x,y) = [5x — 2y|

F(x,y,z) = rm(11xz, 3y)

F(x) = py(x + 5y = 40)
F(x,y,z) = max(rm(x, 2y), 3z)
F(x,y) = 18x + sg(y)
F(x,y,z) = 2xy-5z

F(x,y,2) = min(rm(x,z),7y)
F(x,y) = sg|3x — 2y|
F(x,y,z) = [xz/3y]

F(x,y) = uz(I3xy —z| = 0)
F(x,y,z) = [x/2y] + 3z
F(x,y) = min([x/2],[y/5])
F(x,y,z) = min(max(y, z),7X)
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60.
61.
62.
63.
64.

F(x,y) = 5x?+3ly

F(x,y,2) = y? + 3rm(x, 2z)
F(x,y) = max(12x,3y?)

F(x,y,2) = min(x+ 3,y + 1,z + 2)

F(X'Y) = |7X - 1ZY|
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E. Cuwnn gynpylijjut hwdwph' Jkpulubqity $npdug nbunipjui
opjljup (kpt gnynipjnit nitth).

1. 443 20. 2021 39. 2007 58. 503
2. 1500 21. 349 40. 2009 59. 7411
3. 2034 22. 241 41. 1986 60. 2025
4. 666 23. 2331 42. 1991
5. 2299 24. 749 43. 1961
6. 428 25. 729 44. 1966
7. 87456 26. 3000 45. 1992
8. 691 27. 1946 46. 1995
9. 1500 28. 1948 47. 2002
10. 2034 29. 1952 48. 2014
11. 666 30. 1919 49. 214
12. 2299 31. 1912 50. 202
13. 428 32. 1931 51. 209
14. 87456 33. 1906 52. 207
15. 3276 34. 1942 53. 198
16. 71 35. 1953 54. 201
17. 59 36. 1964 55. 1962
18. 2691 37. 1969 56. 1973
19. 489 38. 1978 57. 2015
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10.
11.

12.

13.

14.

15.

16.

17.

Zupguowp

dnpdwy nbunipjutt vwhdwiunidp ((kqny, hkuwunypubp,
wpunwsdwl  Jubntbutp), hhdtwlwut hwnlnipnibubpp
(mthwljuwubjhnipnil, ;phynipintl, |niskihnipmih)
Uunypuwjhtt hwoyh vwhdwbtnudp, hwnlnipnitubpp
Yannijghwyh ptnpbup wunypwhtt hweynid

YQudwnh (Eddw

Fnpbd wunypwihtt hwoyh (phynipyjut yepupkpyug
tnpbd wunypuyhtt hwpyh wthwjwubkihnipjut yepupk-
pjwp

Uuntjpuyhtt hwpgh htttwmunypubph wjuwhinipmniup
NMptghjuwnwghtt hwpydh vwhdwinudp, hwnynipniuutpp
Ukjtwpwtnmpnit, hpwgnpstihnipinit, hwlwunipinil,
unybwpwinipmnil, hwdwyhwnwinpt dhpnn pwbwdlikp,
ophtwljutp

Yangnijghwyh phnpbup ypinhuwnwght hwoynid

Finpbd wypbknhuwwnuwghtt hwyyh wthwwubihnipjut k-
pupbpju

dnpdwy pyupwiinipjut uvwhdwinudp, hwnlnipniuukpp
‘Unp hwpwpbpnipnibtubph ubpdnisnid S-nid
Utunwpbnpbd ptwlut pytph wthwjwuwpnipjul, gni-
dwnh nt wpununpuh ubpuyugdwt yepupkpyuy S-nud
Mptghjuwniubph wpunwhwynnid ot $niuljghwkph ubkp-
Juyugnid S-nid

Zhdpuyhtt pnitijghwbph bpluyugnuip pnpuwy plwpw-
unipjniunid, ophtimjubtip

3nnkih $-h hwnlnipniut nt tkpuyugnudp S-nud
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18.

19.

20.

21.

22.

23.

24,

25.

Ns twjwt thnthnjpwlwuubph thpuniddwt gnpdnnnipjut
wpryniuph tkpjuyugnidp $npduy pyupwiinipniind
Stnunpuwtt  gnpénnnipjutt wpyniuph  tkpluyugnudp
dnpuuw) pwpwinipiniinid

NMupqugniy wunpunupddwt wpyniuph tkpuyugnudp
dnpuw) pwpwinipiniinid

Ljwqugqgnijuh npnudwb gnpdnnnipjub wpyniuph tkplju-
jugnidp $npdw) puwpwtinipiniunid

Guipgpupwg wpbphuwnitph wpunwhwynnuwp  $npduy
pYwpwtinipjniunid

dnpdwy nbunipjut opjkjnniiph hwdwpwluwndt pun
Qynnkih

Qnnpbh wnweht phopbup $npdwy pwpwinipjui ny
Inhynipyut Jhpwptpyug

Qnnbih tppnpy phnpbdt nt puwpwinipyut wthwjuuk-
1hnipjut ny wpnwskhnipjniup tpwunid
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Pesiome

MartemaTH4ecKas JOruKa
Anaum Yyoapsn

JanHoe mocoOue mpeacTaBiseT coOOH paclIupeHHOE BOC-
MIPOM3BEICHUE 3alMCel MOJIYroI0BOI0 Kypca JICKIIUN M0 Mate-
MaTUYECKON JIOTMKE, YATAEMOTO aBTOPOM CTYACHTaM, 00ydaro-
mMcst Ha (hakynbTeTax ¢ MaTeMaTH4YeCKON HAIPaBIEHHOCTHIO.

[TocoOue ConmepXHUT CxKATOE U3JI0KEHHE OCHOB KJIaCCHYEC-
KOM MaremMaTH4decKou Joruku. COCTaBIISIOMUMEI YacTsIMU U3JI0-
JKEHHOH B JAHHOM IIOCOOMHM TEOPHH SIBIISIOTCS: HCUHMCICHHE
BBICKA3bIBAaHUM, UCUUCIICHUE MPEIUKATOB U PopMaibHas apud-
METHKa, KOTOpas 3aBepIIaeTcs 3HaMEHUTOH Teopemoit I'énenst o
HEIOJIHOTEe apu(METHKH, a TakKe KOMMEHTapHEB, TOSIBUB-
IIMXCSl KaK pa3bsiCHEHUs Ha 3a/laBaeMble CTYyACHTaMH, Ha Tep-
BBIN B3TJISA/I, CTPAHHBIC BOIIPOCHI.

[Tocobue conepkuT Takke TeMaTUYecKue Moa0OpKH 3aaad
U yIPaXHEHUU, KOTOPHIE MOTYT OBITh MCIIOIB30BAaHbI KaK st
MPaKTUYECKUX 3aHATHI, TaK M Ha NUCBMEHHBIX M YCTHBIX
JK3aMeHax.

[Ipeanonaraercsi, YT0 OCHOBHOM MaTepuall JAHHOTO IOCO-
Oust OyzeT Jerko ycBosieM JFOObIM OOsiagaTesieM MaTeMaThyec-
KOT'0 MBIIIJIEHUS, OJHAKO JKeJaTeNbHO, YTOOLI OH ObLI 3HAKOM C
OCHOBaMHU TEOpUH OYJIEeBBIX (PYHKIMHA, TEOPHH MHOXKECTB, a
TaK)Xe TEOPUH AITOPUTMOB.
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Summary
Mathematical Logic
Anahit Chubaryan

This textbook is prepared on the basis of the author’s one-
semester lecture notes reflecting the Mathematical Logic course
for undergraduate and graduate students of mathematical or
applied mathematical departments.

This book is a compact introduction to many of the
important topics of classical mathematical logic, comprising
natural and unrestricted theoretic methods. It covers
propositional logic, predicate calculus, and axiomatic arithmetic.
The major results of Godel about the incompleteness of formal
systems are also given in an adapted version.

The textbook also contains many exercises, which can be
used for practical tasks and exams. This book should be of
interest to introductory courses for students of mathematics,
philosophy, computer science, and electrical engineering.

| believe that the essential parts of the book can be read with
ease by anyone with some experience in abstract mathematical
thinking. There is, however, no specific prerequisite, but some
knowledge of Boolean functions, set theory, and algorithm
theory can be useful.
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